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1) ‘mZdmÀ¶m earamVrb Z°’«$moÝg ‘Ü¶o ¶warZ ~Z{dÊ¶mMm ¶mo½¶ KQ>ZmH«$‘ H$moUVm ?
1) {gbo³Q>rìh [aA°~gm°~©eZ, Q>çw~wba {g{H«$eZ Am{U AëQ´>m{’$ëQ´>oeZ
2) AëQ´>m{’$ëQ´>oeZ, Q>çw~wba {g{H«$eZ Am{U {gcoŠQ>rìh [aA°~gm°~©eZ
3) AëQ´>m{’$ëQ´>oeZ, {gcoŠQ>rìh [aA°~gm°~©eZ Am{U Q>çw~wba {g{H«$eZ
4) Q>çw~wba {g{H«$eZ, {gcoŠQ>rìh [aA°~gm°~©eZ Am{U AëQ´>m{’$ëQ´>oeZ

1) In the nephron of man, what is the correct sequence of urine formation ?

1) Selective reabsorption, tubular secretion and ultrafiltration.

2) Ultrafiltration, tubular secretion and selective reabsorption

3) Ultrafiltration, selective reabsorption and tubular secretion

4) Tubular secretion, selectiv reabsorption and ultrafiltration

2) Imbrbn¡H$s H$moUVr n[apñWVr Xþgè¶m J^m©gmR>r YmoH$mXm¶H$ Agob ?
1) RH+ nwéf d RH- ór Mo {ddmh 2) RH- nwéf d RH+ ór Mo {ddmh
3) RH+ nwéf d RH+ ór Mo {ddmh 4) RH- nwéf d RH- ór Mo {ddmh

2) Which of the following situation will be fatal to second foetus ?

1) RH+ male marries RH- woman 2) RH- male marries RH+ woman

3) RH+ male marries RH+ woman 4) RH- male marries RH- woman

3) Imbrb OmoS>çm Owidm …
œgZ a§JÐì¶ ney/newg‘wh
A) {h‘mo½cmo~rZ I. A°Þo{bS²>g
~) H$bmoamoH«y$Amo[aZ II. n¥ð>d§er¶
H$) {h‘arW«rZ III. qbJwbm
S>) {h‘mogm¶{ZZ IV. ‘mo„xñH²$g
n¶m©¶r CÎmao …

A ~ H$ S>
1) II III I IV

2) II I III IV

3) III II IV I

4) IV III I II

3) Math the following :

Respiratory Pigment    Animal/Animal group

a. Haemoglobin I. Annelida

b. Chlorocruorin II. Vertebrates

c. Hemerythrin III. Lingula

d. Haemocyanin IV. Molluses
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Answer Options :

a b c d

1) II III I IV

2) II I III IV

3) III II IV I

4) IV III I II

4) A{ZË¶ V§Vy Am{U ñZm ỳ g§Hw$MZ {gÕm§Vm ~m~V Imbrb {dYmZo bjmV ¿¶m …
A) hm {gÕm§V AmYw{ZH$ ñZm ỳ g§Hw$MZ g§H$ënZm ñnï> H$aVmo.
~) hm {gÕm§V h³gbo Am{U {ZS>aOaHo$ ¶m emókm§Zr ‘m§S>bm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ AmhoV ?
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) H$moUVo hr Zmhr

4) Consider the following statements about sliding filament theory of muscle contraction :

a. This theory explains the modern concept of muscle contraction.

b. This theory was put forward by Huxley and Niedergerke.

Which of the above statements is/are true ?

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) None of the above

5) H°$pëgZoeZ à{H«$¶oVyZ ......... ~mhoa nS>Vmo.
1) ’$º$ H$m~©ZS>m`Am°ŠgmBS> ~mhoa nS>Vmo 2) ’$º$ h¡S´>oQ>‘YyZ nmUr ~mhoa nS>Vo
3) (1) qH$dm (2) ho YmVwH$m§da Adc§~yZ AgVo 4) hm¶S´>moOZ gë’$mB©S> ~mhoa nS>Vmo

5) During calcination process

1) Only CO2 is given out 2) Only H2O from hydrates is given out

3) (1) or (2), depending on types of ore 4) H2S is given out

6) h[aV agm¶Z emó åhUOo H$m¶ ?
1) h[aVJ¥h dm ỳ‘wio XaamoOÀ¶m dmnamVrb agm¶Zo V¶ma H$aUo.
2) amgm¶{ZH$ A{^{H«$¶m {haì¶m dZñnVrnmgyZ V¶ma H$aUo.
3) O¡{dH$ KQ>H$m§nmgyZ A{^{H«$¶m ~Z{dUo/V¶ma H$aUo.
4) {~Zm{dfmar Ðì¶o Am{U Ðmì¶o dmnê$Z n¶m©daUnyaH$ CËnmXZo V¶ma H$aUo.

6) By green chemistry, we mean

1) Producing chemicals of our daily use from greenhouse gases

2) Performing chemical processes which use green plants

3) Performing only those reactions which are of biological origin

4) The use of non-toxic reagents and solvents to produce environmentally-friendly products

7) Imbrbn¡H$s H$moUVo bwB©g Amåb Zmhr ?
1) ~o[aA‘ ³bmoamB©S> (BaCl2) 2) ~moam°Z Q´>m¶ ³bmoamB©S> (BCl3)

3) ~o[abrA‘ ³bmoamB©S> (BeCl2) 4) ~moam°Z Q´>m¶ âbmoamB©S> (BF3)

7) Which of the following is not a Lewis acid ?

1) Barium chloride (BaCl2) 2) Boron trichloride (BCl3)

3) Beryllium chloride (Becl2) 4) Boron trifluroide (BF3)

8) Imbrbn¡H$s H$mhr hr H$mobm¶S>b gmoëgÀ¶m d¡{eï>o AmhoV?
A) qQ>S>mb n[aUm‘ ~) ~«mC{ZAZ JVr H$) ‘°Šgdoc {dVaU S>) ìh|S>adm°ëg ~b
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n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A Am{U ~ 3) A Am{U H$ 4) ~ Am{U S>

8) The following are some of the properties of the colloidal sols :

a. Tyndall effect b. Brownian motion c. Maxwell distributiond. van der Waals forces

Answer Options :

1) a, b and c 2) a and b 3) a and c 4) b and d

9) Imbrb {Xboë¶m {dYmZm§n¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) HF Am{U H2O hr Y«wdr` g§¶wJo AmhoV.
~) CH4 Am{U CO2 hr Y«wdr` g§¶wJo ZmhrV.
H$) CO2 Am{U SO2 hr Y«wdr` g§¶wJo ZmhrV.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) A, ~ Am{U H$

9) Which of the following statements are correct ?

a. HF and H2O are polar molecules.

b. CH4 and CO2 are non-polar molecules.

c. CO2 and SO2 are non-polar molecules.

Answer Options :

1) a and b 2) b and c 3) a and c 4) a, b and c

10) Imbrbn¡H$s H$moUVr A{^{H«$¶mH$maHo$ A‘mo{Z¶m V¶ma H$aÊ¶mgmR>r dmnaVmV ?
A) NH4Cl + Ca (OH)2

~) N2 + H2

H$) CaCN2 + H2O

n¶m©¶r CÎmao …
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) A, ~ Am{U H$

10) Which of the following reactants can be used to prepare ammonia ?

a. NH4CI + Ca(OH)2
b. N2 + H2
c. CaCN2 + H2O

Answer Options :

1) a and b 2) b and c 3) a and c 4) a, b and c

11) ^maVr¶ ñdmV§Í¶ H$m¶Xm 1947 ‘wio g§{dYmZ g ôÀ¶m ñWmZm‘Ü¶o Pmboë¶m ~Xbm~m~VMr Imbrb {dYmZo {dMmamV ¿¶m…
A) g§{dYmZ g^m nyU© gmd©̂ m¡‘ g§ñWm ~Zbr.
~) g§{dYmZ g^m hr ñdV§Ì ^maVmMr n{hbr g§gX ~Zbr.
H$) Ooìhm g§{dYmZ g^m {d{Y‘§S>i g§ñWm åhUyZ ^aV Ago, Voìhm {VÀ¶m AÜ¶jñWmZr S>m°. amOoÝÐ àgmX AgV.
S>) g§{dYmZ g ôMr gXñ¶ g§»¶m 389 À¶m VwbZoZo 299 n¶ªV H$‘r Pmbr.
n¶m©¶r CÎmao …
1) {dYmZo A, ~ Am{U H$ ~amo~a 2) {dYmZo ~, H$ Am{U S> ~amo~a
3) {dYmZo A, ~ Am{U S> ~amo~a 4) {dYmZo A, H$ Am{U S> ~amo~a
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11) Consider the following statements regarding changes made by the Indian Independence Act of

1947 in the position of Constituent Assembly :

a. The Constituent Assembly was made a fully sovereign body.

b. The Constituent Assembly became the first Parliamnt of free India.

c. When the Constituent Assembly met as the Legislative body it was chaired by Dr. Rajendra Prasad

d. The total strength of the Constituent Assembly came down to 299 as against 389.

Answer Options :

1) Statements a, b and c are correct 2) Statements b, c and d are correct

3) Statements a, b and d are correct 4) Statements a, c and d are correct

12) 1978 À¶m 44 ì¶m KQ>ZmXþéñVr A{Y{Z¶‘mÛmao amḯ>r¶ AmUr~mUrÀ¶m g§X^m©V Imbrbn¡H$s H$moUVr VaVyX Ho$bobr Zmhr?
1) H°${~ZoQ>À¶m boIr {e’$maer {edm¶ amï´>nVr AmUr~mUr Kmo{fV H$ê$ eH$Uma Zmhr.
2) "A§VJ©V Aem§VVm" ¶m EodOr "geó ~§S>mir" hm eãXà¶moJ H$aÊ¶mV Ambm.
3) AZwÀN>oX 19 Imbr Agbobo ghm ‘yb ŷV A{YH$ma ho Ho$di ¶wÕ AWdm naH$s¶ AmH«$‘UmÀ¶m H$maUmñVd Kmo{fV

H$aÊ¶mV Amboë¶m AmUr~mUrV {Zb§{~V H$aVm ¶oVrb, geó ~§S>mirÀ¶m H$maUmñVd Kmo{fV H$aÊ¶mV Amboë¶m
AmUr~mUrV {Zb§{~V H$aVm ¶oUma ZmhrV.

4) Oa g§gXoÀ¶m H$moUË¶mhr g^mJ¥hmZo AmUr~mUrÀ¶m KmofUobm {damoY H$aUmam AWdm AmUr~mUr Mmby R>odÊ¶mg {damoY
H$aUmam R>amd H$moUË¶mhr doir ‘§Oya Ho$bm Va amï´>nVrZo AmUr~mUr ‘mJo KoÊ¶mMr KmofUm H$aUo Amdí¶H$ Amho.

12) Which one of the following has not been provided by the 44th Constitutional Amendment Act of

1978 relating to National Emergency ?

1) A proclamation of National Emergency will not be issued by President unless there is a written

recommendation of the Cabinet.

2) The expression 'internal disturbances' has been replaced by 'armed rebellion'.

3) The six fundamental rights under Article 19 can be suspended only when the National Emergency

is declared on grounds of war or external aggression and not on grounds of armed rebellion.

4) The President must issue a proclamation of revocation any time if any House of Parliament

passes a resolution disapproving of the continuance of the proclamation.

13) Imbrb {dYmZo {dMmamV ¿¶m …
A) ‘yiÀ¶m amÁ¶ KQ>ZoV Cnamï´>nVrMr {ZdS> g§gXoÀ¶m XmoÝhr g^mJ¥hm§À¶m g§¶wº$ ~¡R>H$sV ìhmdr Aer VaVyX hmoVr.
~) 1961 À¶m 11 ì¶m KQ>ZmXþéñVrZo Cnamï´>nVrÀ¶m {ZdS>rMr nÕV ~XbÊ¶mV Ambr.
H$) Cnamï´>nVrMr {ZdS> XmoÝhr g^mJ¥hm§À¶m Ho$di {Zdm©{MV gXñ¶m§À¶m {ZdS >‘§S>imH$Sy>Z Ho$br OmVo.
S>) {ZdS> ‘§S>i (Electoral College) AnyU© hmoVo ¶m H$maUmñVd Cnamḯ>nVrÀ¶m {ZdS>UwH$sbm AmìhmZ XoVm ¶oV Zmhr.
n¶m©¶r CÎmao …
1) {dYmZo A, ~ ~amo~a, H$, S> MyH$ 2) {dYmZo ~, H$, S> ~amo~a, A MyH$
3) {dYmZo A, ~, S> ~amo~a, H$ MyH$ 4) {dYmZo ~, H$ ~amo~a, A, S> MyH$

13) Consider the following statements :

a. The original Constitution provided that the Vice-President would be elected by the two Houses

of Parliament assembled at a joint meeting.

b. The 11th Constitutional Amendment, 1961 changed the procedure of election of the Vice-

President.

c. The Vice-President is elected by the members of an electoral college consisting of the elected

members only of both the Houses.

d. The election of the Vice-President cannot be challenged on the grounds that the electoral

college was incomplete.
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Answer Optins :

1) Statements a, b are correct, c and d are false   2) Statements b, c, d are correct and a is false

3) Statements a, b, d are correct and c is false     4) Statements b, c are correct, a and d are false

14) ‘hmamï´>mÀ¶m amÁ¶nmbm~m~V Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho ?
1) Vo A±½bmo O‘mVr‘Yrb EH$mg {dYmZ n[afXoda Zm‘{ZX}{eV H$ê$ eH$VmV.
2) Vo A±½bmo B§{S>¶Z O‘mVr‘Yrb {H$‘mZ XmoKmg {dYmZ g ôda Zm‘{ZX}{eV H$ê$ eH$VmV.
3) Ë¶m§Zm amÁ¶KQ>ZoÀ¶m AZwÀN>oX 371 (2) AÝd¶o {deof O~m~Xmar àXmZ H$aÊ¶mV Ambr Amho.
4) Vo amÁ¶KQ>ZoÀ¶m AZwÀN>oX 31 A Imbr gº$sZo ImOJr ‘mb‘Îmm g§nmXZ H$aÊ¶mg§~§YrMo {dYo¶H$ amï´>nVrÀ¶m

{dMmamW© amIyZ R>ody eH$V ZmhrV.
14) Which one of the following statements about the Governor of Maharashtra is true ?

1) He can nominate one member to the Legislative Council from the Anglo-Indian community.

2) He can nominate at least two members to the Legislative Assembly from the Anglo-Indian

community.

3) He has been given special responsibility under Article 371 (2).

4) He cannot reserve the bill for the consideration of President, dealing with compulsory

acquisition of property under Article 31 A of the Constitution.

15) Imbrbn¡H$s H$moUVr ~m~ OwiV Zmhr ?
1) 11 {S>g|~a, 1946 … Odmhabmb Zohê$ g§{dYmZ g ôV C{Ôï>m§Mm R>amd ‘m§S>bm.
2) 29 Am°JñQ>, 1947 … ‘gwXm g{‘VrMr ñWmnZm
3) 26 Zmoìh|~a, 1949 … ^maVr¶ OZVoZo g§{dYmZ ñdrH¥$V d A{Y{Z¶{‘V H$ê$Z ñdV… àV An©U Ho$br.
4) 24 OmZodmar, 1950 … g§{dYmZ g ôÀ¶m gXñ¶m§Zr A§{V‘V… g§{dYmZmda ñdmjè¶m Ho$ë¶m.

15) Which of the following items is wrongly matched?

1) 11th December, 1946 : Jawaharlal Nehru moved the Objective Resolution in the

constituent Assembly.

2) 29th August, 1947 : Drafting committee was set up

3) 26th November, 1949 : The people of India adopted enacted and gave to themselves

the Constitution.

4) 24th January, 1950 : Constitution was finally signed by the members of the

Constituent Assembly.

16) amÁ¶ {d{Y‘§S>imZo g§‘V Ho$bobo {dYo¶H$ amÁ¶nmb amï´>nVrÀ¶m {dMmamW© amIyZ R>ody eH$VmV. amï´>nVr
A) {dYo¶H$mbm ‘mÝ¶Vm XoVmV AWdm ‘mÝ¶Vm amIyZ R>ody eH$VmV.
~) amÁ¶ {d{Y‘§S>imH$S>o nwZ©{dMmamW© Vo {dYo¶H$ naV nmR>dy eH$VmV.
H$) amï´>nVrH$Sy>Z naV Amboë¶m {dYo¶H$mda amÁ¶ {d{Y‘§S>imZo VrZ ‘{hÝ¶mV nwZ{d©Mma Ho$bmM nm{hOo Am{U Oa nwÝhm

Vo {dYo¶H$ ‘§Oya Ho$bo Va amï´>nVrda Ë¶mg g§‘Vr XoUo ~§YZ H$maH$ AgVo.
S>) nwZ{d©MmamW© naV Ambobo {dYo¶H$ Oa amÁ¶ {d{Y‘§S>imZo nwÝhm ‘§Oya Ho$bo Va amï´>nVrZo Ë¶mg ghm ‘{hÝ¶m§À¶m

H$mbmdYrV g§‘Vr {Xbr nm{hOo.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A, ~ Am{U H$ 3) A, ~ Am{U S> 4) A, H$ Am{U S>
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16) In the case of a bill passed by the State Legislature, Governor can reserve it for the consideration

of the President.

a. The President may declare or withhold his asssent to the bill.

b. The President may return the bill for reconsideration to the State Legislature.

c. State Legislature must reconsider the bill within three months and if passed again it is obligatory

upon the President to give his assent.

d. In case of reconsidered bill which is passed again by State Legislature, President shall declare

his assent within a period of six months.

Which of the statements given above are correct?

Answer Options :

1) a and b 2) a, b and c 3) a, b and d 4) a, c and d

17) ^maVmV Ý¶m¶mb¶rZ nwZ{d©bmoH$Z ......... gwMdVo.
1) H$m¶Úm§Mr d H$m¶©H$mar AmXoem§Mr KQ>ZmË‘H$Vm Kmo{fV H$aÊ¶mMm Ý¶m¶mb¶rZ A{YH$ma.
2) H$m¶Xo‘§S>imÛmao ‘§Oya H$aÊ¶mV Amboë¶m H$m¶Úm§Mo gwknUm ¶mda àíZ CnpñWV H$aÊ¶mMm Ý¶m¶mb¶rZ A{YH$ma.
3) H$m¶Xoera ‘mÝ¶Vm Agboë¶m gd© ~m~tMo amï´>nVrMr ‘mÝ¶Vm {‘iÊ¶mAJmoXa nwZamdbmoH$Z H$aÊ¶mMm Ý¶m¶mb¶rZ

A{YH$ma
4) Amnë¶mM `mnydu g‘mZ AWdm {^Þ àH$aUm‘Ü¶o {Xboë¶m {ZU©¶mMo nwZamdbmoH$Z H$aÊ¶mMm Ý¶m¶mb¶rZ A{YH$ma.

17) In India, Judicial Review implies

1) The power of the judiciary to pronounce upon the constitutionality of laws and executive orders.

2) The power of the judiciary to question the wisdom of teh laws enacted by the legislatures.

3) The power of the judiciary to review all the legislative enactments before they are assented to

by the President.

4) The power of the judiciary to review its own judgements given earlier in similar or different

cases.

18) Imbrb {dYmZm§n¡H$s H$moUVo {dYmZ/Zo ^maVr¶ amÁ¶KQ>ZoV VaVyX åhUyZ g‘m{dï> Ho$bobr Amho/V?
A) amÁ¶mMm amÁ¶nmb åhUyZ {Z¶wº$ hmoUmar ì¶º$s hr ̂ maVr¶ g§KmVrb BVa Xþgè¶m amÁ¶mMr a{hdmgr Agbr nm{hOo.
~) XoemÀ¶m Y‘©{Zanoj d¡{eîQ>çmMr ImÌr XoÊ¶mgmR>r gdm}ƒ Ý¶m¶mb¶mVrb {H$‘mZ EH$ Ý¶m¶mYre hm ‘wñbr‘ Agbm

nm{hOo.
H$) g§gXoÀ¶m bmoH$boIm g{‘VrMm AÜ¶j hm {damoYr njmMm Agbm nm{hOo.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) darbn¡H$s EH$hr Zmhr 4) A Am{U ~

18) Which of the following statements is/are included as provision of the Indian Constitution ?

a. The person to be appointed as Governor of a State should be a domicile of some other State of

the Indian Union.

b. there should be at least one Muslim judge in the Supreme Court so as to ensure its secular

character.

c. The Chairman of the Public Accounts Committee of the Parliament should belong to a party in

the opposition.

Answer Options :

1) Only a 2) Only b 3) None of the above 4) a and b
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19) Imbrb {dYmZo {dMmamV ¿¶m …
A) ZwH$VmM Amo{S>em {dYmZg ôZo {dYmZ n[afX {Z‘m©U H$aÊ¶m~m~V R>amd ‘§Oya Ho$bm Amho.
~) gÜ¶m nm§M amÁ¶m§Zm {dYmZ n[afX Amho.
H$) Ho$ai Am{U JwOamV ‘Ü¶o {dYmZ n[afX {Z‘m©U H$aÊ¶mg§~§YrMo àñVmd g§gXo‘Ü¶o àb§{~V AmhoV.
S>) {dYmZ n[afXoMo 1/12 gXñ¶ ho Zm|XUrH¥$V nXdrYam§H$Sy>Z {ZdS>bo OmVmV.
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV ?
1) A, ~ Am{U H$ 2) ~ Am{U H$ 3) H$ Am{U S> 4) A Am{U S>

19) Consider the following statements :

a. Odisha Legislative Assembly passed resolution for creation lf Legislative Council recently.

b. Currently, five States have Legislative Councils.

c. Proposals to create Legislative Councils and Kerala and Gujarat are pending in Parliament.

d. 1/12th member of Legislatie Council are elected by registered graduates.

Which of the above statements are correct ?

Answer Options :

1) a, b and c 2) b and c 3) c and d 4) a and d

20) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo MwH$sMo Amho/V ?
A) bmoH$g ôV A{dídmg R>amd H$moUË¶m H$maUm§da AmYm[aV Amho, ho ñnï> H$amdo bmJVo.
~) bmoH$g ôV A{dídmg R>amd XmIb H$ê$Z KoÊ¶mg§~§YrMr nÕVr hr bmoH$g ôÀ¶m {Z¶‘ 198 ‘Ü¶o gm§{JVbr Amho.
H$) A{dídmg R>amd EH$Xm XmIb Pmë¶mda Vmo XmIb H$aÊ¶mg ‘§Owar {‘imë¶mnmgyZ Xhm {Xdgm§À¶m AmV MM}g

KoVbm Jobm nm{hOo.
S>) BQ>br ‘Ü¶o gaH$mabm g§gXoÀ¶m XmoÝhrhr g^mJ¥hm§À¶m nmqR>ã¶m Mr JaO AgVo.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ~ Am{U H$ 4) A Am{U S>

20) Which one of the following statements is/are not correct ?

a. In Lok Sabha, a non-confidence motion has to set out the grounds on which it is based.

b. In the case of a non-confidence motion in Lok Sabha procedures of admissibility have been

laid down in Rule 198 of Lok Sabha.

c. A motion of non-confidence once admitted has to be taken up within up within ten days of the

leave being granted.

d. In Italy, the government requires the support of both houses of Parliament.

Answer Options :

1) Only a 2) Only c 3) b and c 4) a and d

21) ^maVr¶ {Zdm©MZ Am¶moJm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
1) Ho$di ‘w»¶ {Zdm©MZ Am¶wº$m§Zm Amnë¶m H$m¶©H$mimMr gwa{jVVm Amho, na§Vw BVa {Zdm©MZ Am¶wº$m§Zm Ver gwa{jVVm

Zmhr.
2) ‘w»¶ {Zdm©MZ Am¶wº$m§Mo ñWmZ AWdm XOm© hm gdm}ƒ Ý¶m¶mb¶mÀ¶m Ý¶m¶mYre g‘mZ Amho.
3) ‘w»¶ {Zdm©MZ Am¶wº$ ho Ho$di g‘mZmVrb à‘wI AmhoV.
4) Oa EImÚm ~m~VrV ‘w»¶ {Zdm©MZ Am¶wº$ Am{U BVa {Zdm©MZ Am¶wº$ ¶m§À¶m‘Ü¶o ‘V ôX {Z‘m©U Pmbo Va Ë¶m
~m~tMm {ZU©¶ ~hþ‘VmZo KoVbm OmVmo.

21) Which one of the following statements about Election Commission of India is false ?

1) Only the Chief Election Commissioner has a security of tensure but not to the other Election

Commissioners.
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2) The Cheif Election Commissioner holds the position or status of a judge of the Supreme

Court.

3) The Cheif Election Commissioner is merely first among equals.

4) In case of difference of opinion amongst the Cheif Election Commissioner and other Election

Commissioners, the matter is decided by majority.

22) Imbrb VaVwXr {dMmamV ¿¶m …
A) ^maVr¶ amÁ¶KQ>Zm AZwÀN>oX 21 Zwgma H$moUË¶mhr ì`º$sMo Or{dV qH$dm ì¶{º$JV ñdmV§Í¶ "H$m¶ÚmÀ¶m ¶mo½¶

à{H«$¶o{edm¶" {hamdyZ KoVbo OmUma Zmhr.
~) ^maVr¶ amÁ¶KQ>Zm AZwÀN>oX 14 Zwgma ^maVr¶ àXoemV amÁ¶ H$moUË¶mhr ì`º$sg H$m¶ÚmnwT>o g‘mZVm AWdm

H$m¶ÚmMo g‘mZ g§ajU ZmH$maUma Zmhr.
darbn¡H$s H$moUVr VaVyX ~amo~a Zmhr ?
n¶m©¶r CÎmao …
1) A 2) ~ 3) H$ 4) darbn¡H$s EH$hr Zmhr

22) Consider the following provision :

a. According to Article 21 of the Indian Constitution, no person shall be deprived of his life or

personal liberty except according to the 'due process of Law'.

b. According to Article 20(2) of the Indian Constitution, no person shall be prosecuted and

punished for the same offence more than once.

c. According to Article 14 of the Indian Constitution, the State shall not deny to any person

equality before the law or the equal protection of the laws within the territory of India.

Which of the provisions given above is not correct?

Answer Optinos :

1) a 2) b 3) c 4) None of the above

23) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maVr¶ amÁ¶KQ>ZoMo AZwÀN>oX 2 ho ^maVr¶ g§KamÁ¶mMm ^mJ Zgboë¶m ŷ àXoemMm g‘mdoe AWdm Ë¶mMr ZdrZ

amÁ¶m§‘Ü¶o ñWmnZm ¶mg§~§Yr Amho.
~) ^maVr¶ amÁ¶KQ>ZoMo AZwÀN>oX 3 ho ApñVËdmV Agboë¶m H|$Ðem{gV àXoemgh KQ>H$ amÁ¶m§À¶m ñWmnZo g§~§Yr

AWdm Ë¶mVrb ~Xbmg§~§Yr VaVwXr àXmZ H$aVo.
H$) ^maVr¶ amÁ¶KQ>ZoVrb AZwÀN>oX 3 Imbr Agbobo {dYo¶H$ ho Ho$di bmoH$g ôVM ‘m§S>bo OmD$ eH$Vo.
darbn¡H$s H$moUVo {dYmZ/Zo ¶mo½¶ Amho/V ?
n¶m©¶r CÎmao …
1) darb gd© 2) A Am{U ~ 3) ~ Am{U H$ 4) ’$º$ H$

23) Consider the following statements :

a. Article 2 of the Indian Constitution relates to admission or establishment of new States which

are not part of the Union of India.

b. Article 3 of the Indian Constitution provides for the formation of or changes in the existing

States including Union territories.

c. A Bill under Article 3 of the Indian Constitution shall be introduced only in the Lok Sabha.

Which of the above statements is/are correct?

Answer Options :

1) All of the above 2) a and b 3) b and c 4) Only c
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24) bmoH$ Ý¶m¶mb¶m~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1) H$m¶Xoera godm A{YgÎmm A{Y{Z¶‘ (Legal Services Authorities Act) 1987 Zwgma bmoH$Ý¶m¶mb¶m§Zm

d¡Ym{ZH$ XOm© {Xbm Jobm.
2) bmoH$Ý¶m¶mb¶mV Ho$di godoVrb AWdm godm{Zd¥Îm Ý¶m{¶H$ ì`º$s¨MmM g‘mdoe hmoD$ eH$Vmo.
3) bmoH$Ý¶m¶mb¶mZo {Xbobm àË¶oH$ {ZU©¶ hm A§{V‘ AgVmo Am{U Vmo XmoÝhr njm§da ~§YZH$maH$ AgVmo.
4) bmoH$Ý¶m¶mb¶mZo {Xbobm {ZU©¶ hm {XdmUr Ý¶m¶mb¶mZo {Xboë¶m {ZdmS>çmg‘mZ AgVmo.

24) Which one of the following statements about 'Lok Adalat' is incorrect ?

1) Under the Legal Services Authorities Act of 1987, Lok Adalats have been given a statutory status.

2) Lok Adalats can be constituted of serving or retired judicial persons only.

3) Every award made by the Lok Adalat is final and binding on the parties.

4) The award passed by the Lok Adalat is deemed to be a decreee of a civil court.

25) amÁ¶ nwZa©MZm Am¶moJ Am{U H$m¶Xm ¶m ~m~VrV Imbrb {dYmZo {dMmamV ¿¶m …
A) Am¶moJmMr {Z¶wº$s {S>g|~a 1953 ‘Ü¶o Ho$br hmoVr.
~) Am¶moJmÀ¶m à‘wInXr ’$Pb Abr ho hmoVo Am{U Am¶moJmMo AÝ¶ XmoZ gXñ¶ EM.ìhr. H$m‘W Am{U JmoqdX d„^ n§V

ho hmoVo.
H$) Am¶moJmZo Amnbm Ahdmb 30 gßQ>|~a, 1954 amoOr gmXa Ho$bm.
S>) amÁ¶ nwZa©MZm A{Y{Z¶‘ 31 Am°JñQ>, 1956 amoOr ‘§Oya Pmbm.
B) amÁ¶ nwZa©MZm A{Y{Z¶‘ 1 OmZodmar, 1957 amoOr A‘bmV Ambm.
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) ~, S> Am{U B© 4) A Am{U S> ’$º$

25) Consider the following statements about the States Reorganisation Commission and Act ?

a. The commission was appointed in December, 1953.

b. The commission was headed by Fazal Ali and two members of the commission were H. V.

Kamath and Govind Ballabh Pant.

c. The commission submitted its report on September 30, 1954.

d. The States Re-organisation Act was enacted on August 31, 1956.

e. The State Re-organisation Act came into effect on January 1, 1957.

Which of the statements given above are correct?

Answer Options :

1) a, b and c 2) b, c and d 3) b, d and c 4) a and d only

26) EH$VoÀ¶m nwVù¶m ~m~V (Statue of Unity) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
1) 182 ‘rQ>a C§M Agbobm EH$VoMm nwVim hm Ý¶y¶m°H©$ À¶m ñdmV§Í¶ XodVoÀ¶m nwVù¶mnojm (Statue of Liberty)

AmH$mamZo XþßnQ> C§MrMm Agob.
2) nwVù¶mMr ‘rQ>a‘Ü ò Agbobr C§Mr hr JwOamVÀ¶m EHy$U {dYmZg^m ‘VXma g§»¶oÀ¶m ~amo~arMr gmYbr Amho.
3) 31 Am°³Q>mo~a, 2018 hm {Xdg gaXma d„^^mB© nQ>ob ¶m§Mm 145 dm OÝ‘{Xdg åhUyZ gmOam Ho$bm Jobm.
4) darbn¡H$s EH$hr Zmhr.

26) Which one of the following statements about "Statue of Unity" is false ?

1) The 182-metre-high Statue of Unity is twice the height of New York's Statue of Liberty.

2) The height of the Statue in metres has been picked to match the total Assembly Constituencies

in Gujarat.

3) October 31, 2018 marks the 145th birth anniversary of Sardar Vallabhbhai Patel.

4) None of the above
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27) Imbrb {dYmZo {dMmamV ¿¶m …
A) ‘mZdr gm§JmS>çmV nmM àH$maMr hmS>o AgVmV.
~) dOZmbm AmYma XoUo Am{U hmbMmbr gwb^ H$aUo hr bm§~ hmS>m§Mr (Long bones) H$m¶} AmhoV.
H$) ñZm¶y~§Ym§Zm X~mdmnmgyZ dmM{dUo ho gnmQ> hmS>m§Mo (Flat bones) H$m¶© Amho.
n¶m©¶r CÎmao …
1) {dYmZo A, ~ ~amo~a 2) {dYmZo ~, H$ ~amo~a 3) {dYmZo A, H$ ~amo~a 4) gd© {dYmZo ~amo~a

27) Consider the following statements :

a. There are five types of bones in the skeleton.

b. The function of the long bones is to support weight and facilities movement.

c. The function of the flat bones is to protect tendones from stress.

Answer Options :

1) Statements a and b are correct 2) Statements b and c are correct

3) Statements a and c are correct 4) All the statements are correct

28) na‘mUy nwadR>mXma JQ>m~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1) gwédmVrbm na‘mUy nwadR>mXma JQ>mV gmV gaH$mao gh^mJr hmoVo.
2) 2018 n¶ªV na‘mUy nwadR>mXma JQ>mV 51 gaH$mao gh^mJr hmoVo.
3) 2018-19 gmR>r na‘mUy nwadR>mXma JQ>mÀ¶m AÜ¶jnXr b°Q>°pìh¶m Amho.
4) AUy V§ÌkmZ {Z¶m©VXma ~ZÊ¶mgmR>r ^maV hm na‘mUy nwadR>mXma JQ>mV gm‘rc hmoD$ BpÀN>Vmo.

28) Which one of the following statements about Nuclear Supplier's Group (NSG) is not correct ?

1) Initially the NSG had seven participating governments.

2) As of 2018, the NSG has 51 participating governments.

3) The NSG chair for 2018-19 is Latvia.

4) India seeks to join the NSG to become an exporter of nuclear technology.

29) "{~«³g" {eIa n[afXm§~m~V OmoS>çm bmdm …
A) 2014 I. Jmodm {eIa n[afX
~) 2015 II. ’$moQ>m©boPm {eIa n[afX
H$) 2016 III. {P¶m‘oZ {eIa n[afX
S>) 2017 IV. C’$m {eIa n[afX
B©) 2018 V. OmohmÝg~J© {eIa n[afX
n¶m©¶r CÎmao …

A ~ H$ S> B©
1) II III IV I V

2) II IV I III V

3) I II III IV V

4) V IV II III I

29) Math the pairs about 'BRICS' summit :

a. 2014 I. Goa Summit

b. 2015 II. Fortaleza Summit

c. 2016 III. Xiamen Summit

d. 2017 IV. Ufa Summit

e. 2018 V. Johannesburg Summit
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Answer Options :

a b c d e

1) II III IV I V

2) II IV I III V

3) I II III IV V

4) V IV II III I

30) «̂ï>mMma à{V~§YH$ (XþéñVr) {dYo¶H$ 2018 ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
1) ¶m {dYo¶H$mV bmM XoUo hm AmVm JwÝhm R>a{dUmar Img VaVyX H$aÊ¶mV Ambr Amho.
2) ¶m {dYo¶H$mZo «̂ï>mMma à{V~§YH$ A{Y{Z¶‘, 1988 ‘Yrb {d{dY VaVwXr ~Xbë¶m AmhoV.
3) ¶m {dYo¶H$mV Ý¶m¶‘yVu ~r. Eg. Mm¡hmZ ¶m§À¶m AÜ¶jVo Imbrb 21 ì¶m {dYr Am¶moJmZo Ho$boë¶m {e’$maer§Mm

g‘mdoe H$aÊ¶mV Ambm Amho.
4) gZXr godH$m§Zm bmM XoUmè¶m ZmJ[aH$m§Zm Xmofr R>a{dë¶m‘wio «̂ï>mMma à{V~§YH$ H$m¶Úmg ¶wZmoÀ¶m «̂ï>mMma {damoYr

n[afXoÀ¶m VÎdm§er gwg§JV H$aÊ¶mV Ambo Amho.
30) Which one of the following statements is false with regard to Prevention of Corruption

(Amendment) Bill, 2018 ?

1) The Bill makes specific provisions related to giving of bribes is now an offence.

2) The Bill amends various provision of Prevention of Corruption Act, 1988.

3) The Bill incorporates the recommendations given by the 21st Law Commission headed by

Justice B. S. Chauhan.

4) By making citizens liable for offering a bribe to a public servant, the anti-corruption law has

been brought to line with UN Convention Against Corruption.

31) 31 OmZodmar, 2018 amoOr OJmÀ¶m ‘moR>çm ^mJmV Xw‘ui Aer "ãë¶y ‘yZ" hr KQ>Zm AZŵ drb Jobr. ¶m g§X^m©Vrb
Imbrb {dYmZo {dMmamV ¿¶m …
A) ãë¶y ‘yZ, gwna ‘yZ Am{U nyU© M§ÐJ«hU hm EH$mM {Xder Ambobm Xw‘ui Agm jU hmoVm.
~) Ooìhm XmoZ nyU© M§Ð EH$mM H°$boÝS>a ‘{hÝ¶mV {XgVmV Voìhm Xþgè¶m M§Ðmg "gwna ‘yZ" åhUyZ g§~moYbo OmVo.
H$) Ooìhm nyU© M§Ð hm n¥Ïdr H$joÀ¶m AJXr {ZH$Q> AgVmo Voìhm "ãë¶y ‘yZ" åhUyZ g§~moYbo OmVo.
¶mo½¶ {dYmZ/Zo
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ ~ Am{U H$ 4) ’$º$ A Am{U H$

31) On January 31, 2018, a rare 'Blue Moon' event was experienced in large parts of the globe. In that

constext consider the following statements :

a. It was a rare moment as a blue moon, a super moon and a total lunar celipse fell on the same

day.

b. When two full moons appear in the same calendar month, the second is termed as 'Super

moon'.

c. When the full moon is at the closest point of its orbit to the Earth it is termed as ̀ Blue moon'.

The correct statements/s is/are :

Answer Options :

1) Only a 2) Only a and b 3) Only b and c 4) Only a and c

32) "ñdÀN> gd}jU J«m‘rU nwañH$ma, 2018" ~m~V Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maVmV h[a¶mUmg gdm}ËH¥$ï> amÁ¶mMo ñWmZ {‘imbo Amho.
~)  ^maVmV ‘hmamï´>mg Xþgè¶m gdm}ËH¥$ï> amÁ¶mMo ñWmZ {‘imbo Amho.
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H$) ‘hmamï´>mÀ¶m gmVmam {Oëømg gdm}ËH¥$ï> {OëømMo ñWmZ {‘imbo Amho.
S>) ‘hmamï´>mÀ¶m Zm{eH$ {Oëømg gdm©{YH$ ZmJ[aH$m§À¶m gh^mJm~Ôb àW‘ ñWmZ {‘imbo Amho.
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) darb gd©

32) Consider the following statements about 'Swachh Survekshan Gramin Award, 2018'.

a. Haryana was ranked as best State in India.

b. Maharashtra was ranked as second best State in India.

c. Satara District of Maharashtra was ranked as best district.

d. Nashik District of Maharashtra was ranked first for maximum citizens participation.

Answer Options :

1) a, b and c 2) b, c and d 3) a, c and d 4) All of the above

33) "{Q>¸$m" (Tikka) amoJmMm àmXþ̂ m©d Imbrbn¡H$s H$moUË¶m {nH$mg hmoVmo ?
1) H$nmer 2) Jhÿ 3) ŵB©‘yJ 4) ^mV

33) "Tikka" disease affects which one of the following crops ?

1) Cotton 2) Wheat 3) Groundnut 4) Rice

34) Imbrb {dYmZo {dMmamV ¿¶m …
A) Owb¡ 2018 n¶ªV 167 Xoem§‘Ü¶o EHy$U 1092 OmJ{VH$ dmagm ñWio ApñVËdmV AmhoV.
~)  OJmV gdm©{YH$ 54 OmJ{VH$ dmagm ñWio BQ>cr‘Ü ò AmhoV. (Owb¡ 2018 n¶ªV)
H$) ^maVmV 39 OmJ{VH$ dmagm ñWio AmhoV. (Owb¡ 2018 n¶ªV)
S>)  ‘w§~B© ‘Yrb pìh³Q>mo[a¶Z Jm°{WH$ e¡brVrb Am{U H$bmË‘H$ Aem B‘maVtÀ¶m g§J«hmg 2018 ‘Ü¶o OmJ{VH$ dmagm

ñWio åhUyZ Kmo{fV H$aÊ¶mV Ambo Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
n¶m©¶r CÎmao …
1) A, ~ Am{U S> 2) ~, H$ Am{U S> 3) A, ~ Am{U H$ 4) darb gd©

34) Consider the following statements :

a. As of July 2018, a total of 1992 World Heritage sites exist across 167 countries.

b. Italy, with 54 World Heritage sites has the most of any country (up to July 2018).

c. India has 39 World Heritage sites (up to July 2018).

d. A collection of Victorian, Gothic and Art Deco buildings of Mumbai are declared as World

Heritage sites in 2018.

Which of the above statements are correct ?

Answer Options :

1) a, b and d 2) b, c and d 3) a, b and c 4) All of the above

35) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maVmMr ¶wZmoÀ¶m ‘mZdr h¸$m§À¶m g§X^m©Vrb gdm}ƒ g§ñWoda 1 OmZodmar, 2019 nmgyZ gwê$ hmoUmè¶m VrZ dfm©À¶m

H$mbmdYrgmR>r {ZdS> Pmbobr Amho.
~) ¶wZmoÀ¶m ‘mZdr h¸$ n[afXoÀ¶m {ZdS>UwH$sV Am{e¶m n°{g{’$H$ JQ>mV gd© C‘oXdmam§‘Ü¶o gdm©{YH$ Aer 188 ‘Vo

^maVmg {‘imbr.
H$) ^maV hm `mnydu {O{Zìhm pñWV ‘mZdr h¸$ n[afXoda 2010-2013 Am{U 2013-2016 ¶m H$m¶©H$mimgmR>r

{ZdS>bm Jobm hmoVm.
darbn¡H$s H$moUVo {dYmZ/Zo gË¶ AmhoV ?
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n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ H$ 4) darb gd©

35) Consider the following statements :

a. India was elected to UN's top human rights body for a period of three years beginning January

1, 2019.

b. India got 188 votes in the Asia-Pacific category, the highest number of votes among all

candidates in UNHRC elections.

c. India had previously been elected to the Geneva based Human Rights Council for the 2010-

2013 and 2013-2016 term.

Which of the above statements is/are true ?

Answer Options :

1) Only a 2) a and b 3) Only c 4) All of the above

36) OJmVrc gdm©{YH$ doJdmZ gwna g§JUH$ H$moUVm ? (OyZ 2018 AIoa)
1) {Q>¶mÝQ>o (MrZ) 2) gZdo Q>m¶hÿcmB©Q> (MrZ)
3) g‘rQ> (A‘o[aH$m) 4) Q>m¶Q>Z (A‘o[aH$m)

36) Which is the world's fastest super computer ? (Up to end of June 2018)

1) Tianbe (China) 2) Sunway Taihulight (China)

3) Summit (USA) 4) Titan (USA)

37) Imcrcn¡H$s H$moUVo {dYmZ/Zo {~ZMyH$ Amho/V ?
A) ^maVmZo å¶mZ‘maÀ¶m gr‘oda Agcocm {‘Pmoam‘ amÁ¶mVrc PmoImdWma hm B{‘J«oeZ VnmgUr ZmH$m gwé Ho$cm

Amho.
~) å¶mZ‘maÀ¶m gr‘oda Agcocm {‘Pmoam‘ amÁ¶mVrc PmoImdWma hm PmoarZnyar Z§VaMm Xþgam VnmgUr ZmH$m Amho
H$) å¶mZ‘ma ~amo~a ^maVmMr 1751 {H$. ‘r. cm§~rMr gr‘m AgyZ Vr AéUmMc àXoe, ZmJmc±S>, Amgm‘ Am{U

‘oKmc¶ ¶m amÁ¶m§Zm ñne© H$aVo.
n¶m©¶r CÎmao :
1) A Am{U ~ 2) A Am{U H$    3) A,~ Am{U H$ 4) ’$º$ A

37) Which of the following statements is/are correct?

a) India opens Zokhawthar immigration check-post in Mizoram along Myanmar border.

b) Zokhawthar is the second immigration check-post in Mizoram along Myanmar border after

Zorinpui check-post

c) India shares 1751 km long border with Myanmar which touches Arunachal Pradesh Nagaland,

Assam and Meghalaya.

Answer Options  :

1) a and b 2) a and c 3) a,b and c 4) Only a

38) Imcrcn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?
1) ^maVmMo n{hco n¶m©daU nyaH$ O¡d B§YZ (bio-fuel) ¶wº$ {d‘mZ MoÞB© Am{U ~|Jcwê$ Xaå¶mZ CS>mco.
2) ^maVmMo ZwH$VoM Amnco O¡d B§YZ 2018 Mo amï´>r¶ YmoaU Omhra Ho$co Amho.
3)  ¶m YmoaUmZwgma 2030 n¶ªV noQ´>moc‘Ü¶o 20% BWoZm°cMo {‘lU H$aÊ¶mMo C{Ôï> R>odÊ¶mV Amco Amho.
4) darcn¡H$s EH$hr Zmhr
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38) Which one of the following statements is incorrect?

1) India's first environment friendly bio-fuel powered flight flew between Chennai and Bengaluru.

2) India has recently released its National Policy on Bio-fuel 2018.

3) The policy envisages a target of 20% blending of ethanol in petrol by 2030.

4) None of these

39) ZwH$VmM "~m°ZoQ>hoS> emH©$" (Bonnethead Shark)  ‘mgm ~mVå¶m§‘Ü¶o hmoVm, Ë¶mg§~§Yr Imcrc {dYmZo {dMmamV ¿¶m :
A) Vmo àm‘w»¶mZo g‘wÐ JdV (sea grass) ImVmo.
~) Vmo àm‘w»¶mZo qhXr ‘hmgmJa Am{U Aa~r g‘wÐmV AmT>iVmo.
Imcr {Xcoë¶m n¶m©¶mVyZ ¶mo½¶ {dYmZ/Zo {ZdS>m :
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) A Am{U ~ XmoÝhrhr Zmhr

39) Recently 'Bonnethead Shark' was in the news. Consider the following statements regarding this:

a) It mainly eats the sea grass.

b) It is mainly found in Indian Ocean and Arabian Sea.

Choose the correct statement/s from the codes given below.

Answer Options  :

1) Only a 2) Only b 3)  Both a and b 4) Neither a nor b

40) Imcrc {dYmZo {dMmamV ¿¶m :
A) ^maVmVrc H$moUË¶mhr amÁ¶mMo "{deof XOm© Agcoco amÁ¶" (Special Category Status State)  Ago dJuH$aU

H$aÊ¶mgmR>r H$moUË¶mhr àH$maMr VaVyX amÁ¶KQ>ZoV g‘m{dï> Zmhr.
~) amï´>r¶ {dH$mg n[afXoZo gd©àW‘ 1969 gmcr Oå‘y Am{U H$mûm‘ra, Amgm‘ Am{U ZmJmc±S> ¶m amÁ¶m§Zm {deof XOm©

Agcocr amÁ¶o åhUyZ ‘§Owar {Xcr hmoVr.
H$) H|$Ðr¶ àm¶mo{OV ¶moOZm§Zm Amdí¶H$ AgUmè¶m {ZYr n¡H$s 90% {ZYr hm {deof XOm© Agcoë¶m amÁ¶m§Zm H|$Ð

emgZmH$Sy>Z {Xcm OmVmo. Va gm‘mÝ¶ dJm©Vrc amÁ¶m§À¶m ~m~VrV hmM {ZYr 60% AgVmo.
darcn¡H$s H$moUVo {dYmZ/Zo MwH$sMo/Mr Amho/V ?
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ H$ 4) darcn¡H$s EH$hr Zmhr

40) Consider the following statements :

a) The Constitution not include any provision for categorisation of any State in India as a Special

Category Status (SCS) State.

b) The National Development Council first accorded SCS  in1969 to Jammu and Kashmir, Assam

and Nagaland.

c) The Central Government pays 90%  of the funds required in a centrally sponsored scheme to

SCS category States as against 60% in case of normal States

Which of the above statement is/are false ?

Answer Options:

1) Only a 2) a and b 3) Only c 4) None of these above

41) ‘h§‘X KmoarMo amÁ¶nmc d ‘h§‘X KmoarÀ¶m ‘¥Ë¶y Z§Va Ë¶m§Zr ñdV§ÌnUo amÁ¶ H$aÊ¶mg gwédmV Ho$cr Vo ŷ̂ mJ ¶m§À¶m
OmoS>çm Owidm.
A) ¶mëXmoP i) {X„r
~) Hw$~mMm ii) ~§Jmc
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H$) ‘h§‘X-BãZ-~»Ë¶ma iii) qgYy
S>) Eo~H$ iv) A’$JmU nd©Vr¶ àXoe
n¶m©¶r CÎmao :

A ~ H$ S>
1) IV III II I

2) I II III IV

3) II I IV III

4) III IV I II

41) Match the following governors of Muhammad Ghori and the territories where they ruled almost

independently after the death of Muhammad Ghori

a)  Yaldoz i) Delhi

b)  Kubacha ii) Bengal

c)  Muhammad-ibn-Bakhtyar iii) Indus

d)  Aibak iv) Afghan Mountains

Answer Options  :

a b c d

1) IV III II I

2) I II III IV

3) II I IV III

4) III IV I II

42) ‘m¡¶© nyd© H$mimV ^maV .......... åhUyZ AmoiIcm OmB©.
1) X ¹$sZ Am°’$ X B©ñQ>Z© grO 2) X ¹$sZ Am°’$ X doñQ>Z© grO
3) X ¹$sZ Am°’$ X gXZ© grO 4) X ¹$sZ Am°’$ X E[a{W«¶Z gr

42) In the Pre-Mauryan period India was known as ........

1) The Queen of the Eastern Seas 2) The Queen of the Western Seas

3) The Queen of the Southern Seas 4)  The Queen of the Erythrean Seas

43) nwT>rc amO KamUr d Ë¶m§Mo amOo ¶m§À¶m OmoS>çm cmdm:
A) amï´>Hy$Q> i) Jmonmc
~) Mmoi ii) Cn|Ð
H$) nmc iii) X§{VXþJ©
S>) na‘ma iv) {dO¶mc¶
n¶m©¶r CÎmao :

A ~ H$ S>
1) III I IV II

2) I III II IV

3) II IV III I

4) III IV I II

43) Match the following dynasties and their kings :

a)  Rashtrakut i)  Gopal

b)  Chola ii)  Upendra

c) Palas iii) Dantidurga

d)  Parmars iv) Vijayalaya
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Answer Options  :

a b c d

1) III I IV II

2) I III II IV

3) II IV III I

4) III IV I II

44) AHo$‘o{ZS> {dO¶m Z§Va ^maVmÀ¶m gr‘oda, {deofH$ê$Z H§$~moO ‘Ü¶o ........ ¶m Zdm CÚmoJ gwé Pmcm.
1) OhmO ~m§YUr 2) ãc±Ho$Q> ~Z{dUo 3) hmV‘mJ gmS>çm ~Z{dUo 4) ^m§S>r ~Z{dUo

44) It was the result of Achaemenid conquest that a new industry of .......... developed in Indian

borderland, specially in Kamboj.

1)  ship building 2)  blanket making 3)  handloom sari-making       4) utensils making

45) OmoS>çm Owidm :
A) H$m‘énMm amOm ~) qgYMm amÁ¶H$Vm© H$) H$mpí‘aMm amOm S) dc^rMm amOm
I) ¶mcm à^mH$adY©ZZo AmYrM H$‘Hw$dV Ho$co hmoVo.
II) hfm©À¶m BÀN>o{déÕ EH$m {MZr `mÌoH$ê$cm Amnë¶m amOYmZrV AS>H$dyZ R>ody eH$cm Zmhr.
III) ¶mcm hfm©cm XmVmMm Adeof XoÊ¶mg ^mJ nmS>co.
IV) H$ZmoOÀ¶m g‘«mQ>mÀ¶m g¡Ý¶m g‘moê$Z EH$Xm niyZ Jocm na§Vw Z§Va Ë¶mÀ¶m ‘wcrer {ddmh Ho$cm.
n¶m©¶r CÎmao :

A ~ H$ S>
1) II I III IV

2) II I IV III

3) I II III IV

4) IV III I II

45) Match the following :

a)  The king of Kamarupa

b)  The ruler of Sind

c) The ruler of Kashmir

d)  The ruler of Valabhi

I) Was already humbled by Prabhakarvardhna

II) Dared not detain a Chinese pilgrim at his capital against the wish of Harsha.

III) Was compelled to surrender a tooth relie to Harsha

IV) Had once fled before the advancing arms of Kanauj Monarch but later married his daughter.

Answer Options  :

a b c d

1) II I III IV

2) II I IV III

3) I II III IV

4) IV III I II

46) nwT>rc n¡H$s H$moUË¶m ì¶º$sMm H$moëhmnya g§ñWmZmer g§~§Y ZìhVm ?
1) H$m{eZmWamd d¡Ú 2) {XZH$aamd OdiH$a    3) ‘mYdamd ~mJc 4) XmXmgmho~ gwd}

46) Who from the following persons was not related to the State of kolhapur ?

1)  Kashinath Rao Vaidya 2)  Dinkarrao Javalkar

3) Madhavrao Bagal 4) Dadasaheb Surve
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47) OmoS>çm Owidm :
A) gr. amOJmonmcmMmar ~) ‘XZ ‘mohZ ‘mcdr¶ d cmcm cOnVam¶ am¶
H$) {dÇ>c^mB© nQ>oc S>) {M. a§. Xmg
i) ‘Ü¶dVu {dYr ‘§S>imMo AÜ¶j åhUyZ {ZdSy>Z Amco.
ii) Ë¶m§Zr {dYm¶H$ H$m¶m©V Ogo h[aOZm§Mm CÕma H$aÊ¶mV ñdV:cm Jw§VdyZ R>odco.
iii) H$cH$Î¶mMo ‘hmnm¡a åhUyZ {ZdSy>Z Amco.
iv)ñdamOtda Q>rH$m Ho$cr.
n¶m©¶r CÎmao :

A ~ H$ S>
1) II IV I III

2) I II III IV

3) IV III II I

4) III I IV II

47) Match the following :

a)  C. Rajgopalachari b) Maan Mohan Malviya and Lala Lajpat Rai

c) Vithalbhai Patel d) C. R. Das

I) Was elected as the President of the Central Legislative Assembly.

II) Kept himself busy with constructive programmes such as upliftment of Harijans.

III)  Was elected Mayor of Calcutta.

IV)  Criticized the Swarajists.

Answer Options  :

a b c d

1) II IV I III

2) I II III IV

3) IV III II I

4) III I IV II

48) nwT>rc dm³¶mV H$moUmMo dU©Z Ho$co Amho ?
A) Vo nwÊ¶mVrc EH$ coIH$ hmoVo.
~) Añn¥í¶m§À¶m dñVt‘Ü¶o OmD$Z Vo Ë¶m§Zm {eH$dV.
H$) 1945 gmcÀ¶m Am§~oS>H$a O¶§VrÀ¶m {Z{‘ÎmmZo H$ë¶mU ¶oWo ¶moOcoë¶m H$m¶©H«$‘mMo Vo AÜ¶j hmoVo.
S>) Vo nwÊ¶mVrc qhXwËddmXr hmoVo.
n¶m©¶r CÎmao :
1) X. H¥$. noR>o 2) ‘m‘mamd XmVo 3) lr. ‘. D$’©$ ~mnygmho~ ‘mQ>o 4) H¥$îUamd ‘amR>o

48) Who is described in the following sentences ?

a) He was an author from pune.

b) He used to go in the colonies of the untouchables and teach them.

c) In 1945 he was the president of the function arranged to celebrate 'Ambedkar Jayanti's at

Kalyan.

d) He was a support of Hinduism from Pune

Answer Options  :

1) D. K. Pethe 2)  Mamarao Date

3)  S.M. alias Bapusaheb Mate 4)  Krushnarao Marathe
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49) OmoS>çm Owidm :
A) n§{S>V am‘-Hw$‘ma {dÚmaËZ I) "~§Jmcr" ¶m d¥ÎmnÌmgmR>r B§J«OrV coI {chrV
~) H¥$îU-Hw$‘ma {‘Ì II) ~«÷mo {‘eZar hmoVo
H$) n§{S>V {edZmW emór III) ~§Jmcr d¥ÎmnÌ "g§OrdZr" Mo g§nmXH$
S>) ÛmaH$mZmW Jm§Jwcr IV) "Hw$cr H$m{hZr" {c{hco
n¶m©¶r CÎmao :

A ~ H$ S>
1) IV III II I

2) III IV I II

3) I II III IV

4) II I IV III

49) Match the following :

a)  Pandit Ramkumar Vidyaratna I)  Wrote English article for newspaper Bengalee'

b)  Krishna Kumar Mitra II)  Was a Brahmo missionary

c)  Pandit Shivnath Shastri III) Editor of Bengal newspaper 'Sanjivani'

d) Dwarkanath Ganguly IV) "Wrote 'Kuli-Kahini'

Answer Options  :

a b c d

1) IV III II I

2) III IV I II

3) I II III IV

4) II I IV III

50) Imcrc {dYmZm§Mm {dMma H$am d CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>m ?
A) ‘moJcH$mcrZ ñWmnË¶ H$cm ^maVr¶ e¡crMr Amho.
~) ‘moJcH$mcrZ ñWmnË¶ H$coda n{e©¶Z d qhXy ¶m XmoÝhr H$cm§Mm à^md Amho.
H$) ‘moJcH$mcrZ ñWmnË¶ e¡crda {dXoer à^md  Amho.
S>)  ‘moJcH$mcrZ ñWmnË¶ H$coda H$moUmMmM à^md Zmhr.
n¶m©¶r CÎmao :
1) {dYmZ A ~amo~a AgyZ ~,H$ Am{U S> MwH$sMr {dYmZo AmhoV.
2) ~ Am{U S> {dYmZo MwH$sMr AgyZ A Am{U H$ ~amo~a AmhoV.
3) A,~ Am{U H$ {dYmZo ~amo~a AgyZ S> MwH$sMo Amho.
4) S> {dYmZ ~amo~a AgyZ A,~ Am{U H$ MwH$sMr {dYmZo AmhoV.

50) Consider the following statements and choose the correct answer options.

a) Mughal architecture is of Indian style

b) Mughal architecture was influenced by both, the Persian and Hindu arts.

c) There is an impact of foreigners on Mughal architecture.

d) Mughal architecture was influenced by no one.

Answer Options :

1) Statement a is correct, but b,c and d are incorrect.

2) b and d are incorrect, but a and c are correct

3) a,b and c are correct, but d is incorrect

4) d is correct, but a,b and c are incorrect
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51) nwT>rc KQ>Zm§Mr Ë¶m§À¶m H$mcH«$‘mZwgma ‘m§S>Ur H$am..
A) T>m³³¶mV ‘wñcr‘ crJMr ñWmnZm
~) IwXram‘ ~mog ¶m§Mm Xohm§V H$aÊ¶mV Amcm.
H$) cm°S>© hmS>t©½Oda ~m°‘ ’o$H$cm
S>) ga à’w$„M§Ð M°Q>Or© ¶m§À¶m AÜ¶jVoImcr cmhmoa ¶oWo qhXy n[afX ^a{dÊ¶mV Amcr.
n¶m©¶r CÎmao :
1)A,~,H$,S> 2) ~,A,S>,H$ 3) A,~,S>,H$ 4) A,S>,H$,~

51) Arrange the following incidents in their chronological order.

a) Muslim League was formed in Dhake. b) Khudiram Bose was executed.

c) Bomb was thrown at Lord Hardinge.

d) Hindu Conference was held at Lahore, under the Presidentship of Sir Prafulchandra Chatterji

Answer Options  :

1) a,b,c,d 2)  b,a,d,c 3)  a,b,d,c 4)  a,d,c,b

52) Imcrcn¡H$s H$moUË¶m {dÛmZ {ó¶m F$½doX H$mimer g§~§{YV hmoË¶m ?
A) {díddmam ~) Anmcm H$) cmonm‘wÐm S>) Kmofm
n¶m©¶r CÎmao :
1) ’$º$ A Am{U ~ 2) ’$º$ A,~ Am{U H$ 3) ’$º$ ~,H$ Am{U S> 4) darc gd©

52) Who from the following women scholars were related to the Rigvedic Period ?

a) Vishwavara b)  Apala c)  Lopamudra d)  Ghosha

Answer Options  :

1) Only a and b 2) Only a,b and c 3)  Only b,c and d 4) All the above

53) nwT>rcn¡H$s H$moUË¶m àH$mamZo ^maVmZo ^m§S>dc d g§nÎmr {~«Q>Zcm Zocr OmV Ago ?
A) ^maVmV H$m‘ H$arV Agcoë¶m {~«{Q>e ZmJar Am{U cîH$ar A{YH$mè¶m§Mo nJma d {Zd¥Îmr doVZ.
~) ^maVmVrc {~«{Q>e ^m§S>dcXmam§Mm Z’$m.
H$) {~«Q>Z‘Ü¶o qhXr gaH$maMm Pmcocm IM©.
S>) qhXr gaH$maZo KoVcoë¶m H$Om©darc ì¶mO.
n¶m©¶r CÎmao :
1) ’$º$ A,H$ Am{U S>    2) ’$º$ A,~ Am{U H$    3) A,~,H$ Am{U S>   4) ’$º$ ~,H$ Am{U S>

53) In which of the following forms was India's capital and wealth transferred to Britain ?

a) Salaries and pensions of the British civil and military officials working in India.

b) Profits of the British capitalists in India.

c) Expenses of the Indian government in Britain.

d) Interests on loans by the Indian government.

Answer Options  :

1) Only a,c and d 2) Only a,b and c   3) a,b,c and d 4)  Only b,c and d

54) nwT>rcn¡H$s {dOmoS> ì¶º$s AmoiIm :
1) e§H$aamd Xod 2) J§JmYaamd Xoenm§S>o   3) nw§S>crH$Or H$mVJS>o 4) ^mñH$a {dîUy H$mio

54) Pick out the odd person from the following :

1) Shankarrao Deo 2) Gangadharrao Deshpande

3)  Pundalikji Katgade 4)  Bhaskar Vishnu kale
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55) .......... À¶m goZmnVtZr J§Jon¶ªVMm àXoe qOHy$Z KoVcm Va Ë¶mÀ¶m Ama‘ma à‘wIm§Zr g‘wÐmncrH$S>o, naXoemda, Ogoo
{gcmoZ, {ZH$mo~ma ~oQ> Am{U ‘c¶m {ÛH$ënmÀ¶m H$mhr ^mJmda Am{YnË` {‘i{dco hmoVo.
1) amO|Ð Mmoi I 2) amOmamOm I 3) gmo‘oœa  III 4) {dH«$‘m{XË¶ IV

55) The generals of .......... conquered land upto Ganges, while his admirals established their authority

over several overseas territories including Ceylon, Nicobar islands and parts of the Malaya

Peninsula.

1) Rajendra Chola I 2) Rajaraja I 3) Someshvara III 4) Vikramaditya IV

56) ñV§̂  A Am{U ñV§̂  ~ ¶m§À¶m ¶mo½¶ OmoS>çm Owidm:
ñV§̂  A (gy¶©Hy$cCËnÎmr) ñV§̂  ~ (g§emoYH$)

A) VoOmo‘oK n[aH$ënZm i) Ooåg OrÝg
~) CëH$m-CËnÎmr n[aH$ënZm ii) ‘wëQ>Z
H$) J«hH$U n[aH$ënZm iii) cm°H$s¶a
S>) ^aVr n[aH$ënZm iv) cmßcmg
n¶m©¶r CÎmao :

A ~ H$ S>
1) II I III IV

2) III II IV I

3) IV III II I

4) I II IV III

56) Match the pairs of Column A and Column B :

Column A (Origin of Solar System) Column B (Inventor)

a) Nebular Hypothesis i) James Jeans

b)  Meteorite Hypothesis ii) Moulton

c)  Planetesimal Hypothesis iii) Lockyer

d)  Tidal Hypothesis iv) Laplace

Answer Options  :

a b c d

1) II I III IV

2) III II IV I

3) IV III II I

4) I II IV III

57) ŷI§S>dhZ {gÕm§VmÀ¶m nw{ð>H$aUmgmR>r H$moUVo nwamdo AmhoV? ¶mo½¶ n¶m©¶ {ZdS>m.
A) {OJgm° - {’$Q> ~) «̂§e ‘ycH$ àdmh
H$) {d{dY joÌmVrc Ordmí‘ S>) àmdaUm‘Yrc A{^gaU
n¶m©¶r CÎmao :
1)A Am{U S> 2) ~ Am{U S> 3) A Am{U H$ 4) A Am{U ~

57) What are the evidence in favour of the Continental Drift Theory ? select the proper option ?

a) Jigsaw fit b) Trans-current faults

c) Fossils in different areas d) Convection in mantle

Answer Options  :

1) a and d 2) b and d  3) a and c 4) a and b
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58) Imcrc {dYmZm§Mo narjU H$am Am{U ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ 'A' : n¥ÏdrMm A§VJm©̂ m hm {ZHo$c Am{U cmoh ¶m§À¶mnmgyZ ~Zcocm Amho.
{dYmZ "~' : n¥ÏdrMo H$dM ho {g{cH$m, Aë ẁ{‘{Z`‘ Am{U ‘°¾o{eA‘ ¶m§À¶mnmgyZ ~Zcocm Amho.
n¶m©¶r CÎmao :
1) {dYmZ "A' Am{U "~' XmoÝhr ~amo~a AmhoV. 2) {dYmZ "A' ~amo~a AgyZ {dYmZ "~' MyH$ Amho
3) {dYmZ "A' MyH$ AgyZ {dYmZ "~' ~amo~a Amho. 4) {dYmZ "A' Am{U "~' XmoÝhr MyH$ AmhoV.

58) Examine  the following statements and select the proper option

Statement 'A' : Inner core of the Earth is made up by Nickel and Ferrous.

Statement 'B' : The Earth's crust is made up of Silics, Aluminium and Magnesium

Answer Options  :

1) Statement 'A' and 'B' are both correct 2) Statement 'A'  is correct and 'B'  is wrong

3) Statement 'A' is wrong and 'B'  is correct 4) Statement 'A' and 'B' are both wrong

59) Imcrc {dYmZm§Mr gË¶Vm Vnmgm, Am{U Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho Vo AmoiIm.
{dYmZ 'A' : X»IZMo nR>ma ho ~ogm°ëQ> IS>H$mnmgyZ ~Zcoco Amho.
{dYmZ "~' : X»IZÀ¶m nR>mamdarc ~ogm°ëQ> IS>H$mMr {Z{‘©Vr Ádmcm‘wIrÀ¶m CÐoH$mVyZ Pmcoë¶m cmìhm agmÀ¶m
g§M¶ZmZo Pmcocr Amho.
n¶m©¶r CÎmao :
1) {dYmZ 'A' Am{U "~' XmoÝhr ~amo~a AmhoV. 2) {dYmZ 'A' Am{U "~' XmoÝhr MyH$ AmhoV.
3) {dYmZ 'A' ~amo~a AgyZ {dYmZ "~' MyH$ Amho. 4) {dYmZ 'A' MyH$ AgyZ {dYmZ "~' ~amo~a AmhoV.

59) Examine and identify the correct statements of the following

Statement 'A' : Deccan Plateau is made up of Basalt Rock.

Statement 'B' : The origin of Basalt Rock on the Deccan Plateau is due to the deposition of lava

erupted from volcano.

Answer Options  :

1) Statement 'A' and 'B' are both correct 2) Statement 'A'  and 'B' both are false.

3) Statement 'A' is correct but 'B'  is false 4) Statement 'A' is false but 'B' is correct.

60) ñV§̂  A Am{U ñV§̂  ~ ¶m§À¶m ¶mo½¶ OmoS>çm Owidm:
ñV§̂  A (IS>H$mMm àH$ma) ñV§̂  ~ (IS>H$)

A) ~{h{Z{‘©V A{½ZOÝ¶ IS>H$ i) S>mB©H$
~) A§V{Z©[©‘©V A{½ZOÝ¶ IS>H$ ii) Hw$é§XmMo IS>H$
H$) OcOÝ¶ IS>H$ iii)  J«m’$mB©Q>
S>) ê$nm§V[aV IS>H$ iv) H$m§½cmo‘aoQ>
n¶m©¶r CÎmao :

A ~ H$ S>
1) I III IV II

2) IV I II III

3) III II I IV

4) II III IV I

60) Match the pairs of column A and column B :

Column A (Types of Rock) Column B (Rock)

a) Extrusive Igneous Rock I. Dyke

b) Intrusive Igneous Rock II.Arenaceous Rock
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c) Sedimentary Rock III.Graphite

d) Metamorphic Rock IV. Conglomerate

Answer Options  :

a b c d

1) I III IV II

2) IV I II III

3) III II I IV

4) II III IV I

61) ~{hJ©Veº$sÀ¶m IZZH$m¶m©‘wio nwT>rc H$mhr ŷ-ê$nm§À`m AmH¥$Ë¶m {Xcoë¶m AmhoV. Ë¶m§Mr {Z{‘©Vr H$moUË¶m ~{hJ©V
eº$s‘wio Pmcocr Amho, ¶mMm ¶mo½¶ n¶m©¶ {ZdS>m.

¶w-AmH$mamMr  KiB© ~maIU     H$‘mZ
1) dmam {h‘ZXr g‘wÐcmQ>m ZXr
2) {h‘ZXr ZXr dmam g‘wÐcmQ>m
3) ZXr dmam {h‘ZXr g‘wÐcmQ>m
4) g‘wÐcmQ>m {h‘ZXr ZXr dmam

61) The following figures are the 'Relief Features' crested by external forces. Select the proper option

from these relief features created by external forces.

U-Shaped Valley    Gorge     Barkhan     Arch

1) Wind Glacier Sea waves River

2) Glacier River Wind Sea waves

3) River Wind Glacier Sea waves

4) Sea waves Glacier River Wind

62) {dYmZ A Am{U ~ ¶m§Mo narjU H$éZ ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ A : gm¡aeº$snmgyZ ¶oUmè¶m CîUVon¡H$s 35% CîUVoMm n¥ÏdrMm n¥ð>^mJ Am{U dmVmdaU VmnÊ¶mg Cn¶moJ hmoV
Zmhr {Vcm n¥ÏdrMr ŷ-YdcVm Ago åhUVmV.
{dYmZ "~' : hdoMo AUy, chmZ Yw{cH$U, T>J, n¥ÏdrMm n¥ð>^mJ ¶m§À¶mnmgyZ {d{H$aU d namdV©Z {H«$¶o‘wio CîUVm
cKwcharÛmao AdH$memV nmR>{dcr OmVo.
n¶m©¶r CÎmao :
1) {dYmZ "A' Am{U "~' XmoÝhr gË¶ AgyZ "~' ho "A' Mo ¶mo½¶ ñnï>rH$aU Amho.
2) {dYmZ "A' Am{U "~' XmoÝhr gË¶ AgyZ "~' ho "A' Mo ¶mo½¶ ñnï>rH$aU Zmhr.
3) {dYmZ "A' gË¶ AgyZ {dYmZ "~' AgË¶ Amho.
4) {dYmZ "A' AgË¶ AgyZ {dYmZ "~' gË¶ Amho.

62) Examine the statement A and statement B.

Statement 'A' : 35% solar energy is not useful for the heating of Earth's surface as well as

atmosphere, that heat is called "Albedo of the Earth's surface".

Statement 'B' : Through Short Waves, Scattering and Reflection process of the air molecules,

heat is tranferred by the small dust particles, clouds and earth's surface in the space.



MPSC - amÁ¶godm nyd© narjm … 2019 nyd© narjm nona-1 / 23

Answer Options  :

1) Statement 'A' and 'B' are both true and 'B' is the correct explanation of 'A'

2) Statement 'A' and 'B' are both true and 'B'  is not the correct explanation of 'A'

3) Statement 'A' is true but  'B'  is false

4) Statement 'A' is false but 'B'  is true

63) ñV§̂  A Am{U ñV§̂  ~ ¶m§À¶m OmoS>çm Owidm :
ñV§̂  A (ñWm{ZH$ dmao) ñV§̂  ~ (AmT>iUmao àXoe)
A) {MZyH$ i) ¶wamon‘Yrc Amëßg nd©V
~) ’$m°Z© ii) X{jU ¶wamon Vo ŷ‘Ü¶ g‘wÐ
H$) cy iii) CÎma ^maVmVrc ‘¡XmZr àXoe
S>) {‘ñQ´>c iv) CÎma A‘o[aHo$Vrc am°H$s nd©V
n¶m©¶r CÎmao :

A ~ H$ S>
1) IV I III II

2) III II I IV

3) II III IV I

4) I IV II III

63) Match the pairs of column A and column B :

Column A (Local winds)  Column B (Regions where they are found)

a) Chinook I) Alps mountains in Europe

b) Fohn II) From South Europe to Mediterranean Sea

c) Loo III) Plain area of North India

d) Mistral IV) Rocky Mountains in North America

Answer Options   :

a b c d

1) IV I III II

2) III II I IV

3) II III IV I

4) I IV II III

64) ñV§̂  A Am{U ñV§̂  ~ ¶m§À¶m ¶mo½¶ OmoS>çm Owidm:
ñV§̂  A (‘¥XoMo àH$ma)  ñV§̂  ~ ({nHo$)
A) nd©Vr¶ ‘¥Xm i) ^aS>YmÝ¶o
~) H$mir ‘¥Xm ii) H$mOy
H$) dmid§Q>r ‘¥Xm iii) g’$aM§X
S>) Om§̂ r ‘¥Xm iv) H$mnyg
n¶m©¶r CÎmao :

A ~ H$ S>
1) I II IV III

2) IV III II I

3) II I III IV

4) III IV I II
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64) Match the pairs of column A and column B

a) Mountainous soil i)  Cereals

b)  Black soil ii)  Cashew

c)  Desert soil iii) Apple

d)  Laterite soil iv) Cotton

Answer Options   :

a b c d

1) I II IV III

2) IV III II I

3) II I III IV

4) III IV I II

65) OmoS>çm OwidyZ ¶mo½¶ n¶m©¶ {ZdS>m :
IS>H$  {Oëho

A) Jm|S>dmZm loUrMo IS>H$ i) ¶dV‘mi, JS>{Mamocr
~) YmadmS> loUrMo IS>H$ ii) gmd§VdmS>r,d|Jwcm©
H$) Am{H©$¶Z loUrMo IS>H$ iii) §̂S>mam, Jm|{X¶m
S>) qdÜ¶ loUrMo IS>H$ iv) M§Ðnya
n¶m©¶r CÎmao :

A ~ H$ S>
1) III II IV I

2) IV I II III

3) I III II IV

4) II I III IV

65) Match the pairs and choose correct options :

Rock     District

a) Gondwana series rocks i) Yavatmal,Gadchiroli

b) Dharwar series rocks ii) Sawantwadi, Vengurla

c) Archean series rocks iii) Bhandara, Gondia

d) Vindhyan series rocks iv) Chandrapur

Answer Options   :

a b c d

1) III II IV I

2) IV I II III

3) I III II IV

4) II I III IV

66) ¶mo½¶ OmoS>çm OwidyZ ¶mo½¶ n¶m©¶ {ZdS>m.
A) ‘hmamï´>mVrb n{hbo CnJ«h XiUdiU H|$Ð i)  dYm©
~) ‘hmamï´>mVrb nyU© {dÚwVrH$aU Pmbobm n{hbm {Oëhm ii)  J§Jmnya (Zm{eH$)
H$) ‘hmamï´>mVrb n{hbo ‘mVrMo YaU iii) Amdu
S>) ‘hmamï´>mVrb n{hbo Ob{dÚwV H|$Ð iv) Imonmobr (am¶JS>)
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n¶m©¶r CÎmao …
(A) (~) (H$) (S>)

1) I III II IV

2) II IV III I

3) I III IV II

4) III II IV I

66) Match the following and choose the correct option.

a) 1st Satellite communication centre in Maharashtra. I) Wardha

b) District having complete electrificaton in Maharashtra. II) Gangapur (Nashik)

c) 1st earthen dam in Maharashtra. III) Arvi

d) 1st hydroelectric project in Maharashtra. IV) Khopoli (Raigad)

Answer Options :

(a) (b) (c) (d)

1) I III II IV

2) II IV III I

3) I III IV II

4) III II IV I

67) ZXrH$mR>mdarb ehao d ZXr ¶m§À¶m OmoS>çm OwidyZ ¶mo½¶ n¶m©¶ {ZdS>m.
ZXr H$mR>mdarb ehao

A) nm§Pam i) g§J‘Zoa
~) Ym‘ ii) ŵgmdi
H$) àdam iii) Ywio
S>) Vmnr iv) ndZma
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) III IV I II

2) III II I IV

3) III I II IV

4) IV I III II

67) Match the appropriate pairs of Rivers and Cities on the river bank.

River Cities on River Bank

a) Panzara I) Sangamner

b) Dham II) Bhusawal

c) Pravara III) Dhule

d) Tapi IV) Pawnar

Answer Options :

(a) (b) (c) (d)

1) III IV I II

2) III II I IV

3) III I II IV

4) IV I III II
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68) Imbr XmoZ {dYmZ {Xbobr AmhoV (A) {dYmZ AgyZ (a) ho H$maU Amho Imbrb n¶m©¶mVyZ ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ (A) … nd©Vr¶ Am{U S>m|Jami àXoem‘Ü¶o hdmB© dmhVyH$ hoM gdmªgmR>r Cn¶wº$ gmYZ Amho.
H$maU (a) … nd©Vr¶ àXoem‘Ü¶o añVo Am{U aoëdo‘mJ© V¶ma H$aUo A{Ve¶ H$R>rU Am{U IMuH$ Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Amho.
2) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Zmhr.
3) (A) gË¶ AgyZ {dYmZ (a) AgË¶ Amho.
4) (A) AgË¶ AgyZ {dYmZ (a) gË¶ Amho.

68) Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason

(R). Select your answer from the following options.

Assertion (A) : Air transport is a very useful means of transport in mountainous and hilly regions

for all.

Reason (R) : It is very costly and difficult to construct roads and railways in mountainous regions.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false.

4) (A) is false but (R) is true.

69) Imbr XmoZ {dYmZ {Xbobr AmhoV (A) ho {dYmZ AgyZ (a) ho H$maU Amho Imbrb n¶m©¶mVyZ ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ (A) … {Zd©ZrH$aUm‘wio hdoVrb H$m~©ZS>m¶-Am°³gmBS>Mo à‘mU dmT>Vo.
H$maU (a) … dZo Ooìhm àH$meg§íbofU {H«$¶oÛmao ñdV…Mo AÞ V¶ma H$aVmV Voìhm ‘moR>çm à‘mUmV H$m~©ZS>m¶-Am°³gmB©S>Mm
dmna hmoVmo.
n¶m©¶r CÎmao …
1) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Amho.
2) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Zmhr.
3) (A) gË¶ AgyZ {dYmZ (a) AgË¶ Amho.
4) (A) AgË¶ AgyZ {dYmZ (a) gË¶ Amho.

69) Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason

(R). Select your answer from the following options.

Assertion (A) : Deforestation results in the increase of concentration of carbon dioxide in the

atmosphere.

Reason (R) : Forests utilise carbon dioxide during the process of photosynthesis for

manufacturing of food.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false.

4) (A) is false but (R) is true.
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70) {Xboë¶m ZH$memMo AdbmoH$Z H$am Am{U dmhUmè¶m dmè¶mMm ¶mo½¶ n¶m©¶ {ZdS>m.

1) Z¡F$Ë¶ ‘mÝgyZ dmao 2) B©emÝ¶ ‘mÝgyZ dmao
3) Z¡F$Ë¶ ì¶mnmar dmao 4) Y«wdr¶ dmao

70) Observe the map and find the out the correct option of blowing winds.

1) South - West monsoon winds 2) North - East monsoon winds

3) South - West trade winds 4) Polar winds

71) h[aVJ¥h dm¶yÀ¶m n[aUm‘mÀ¶m g§X^m©Vrb {dYmZo -
A)  1970 n¶ªV Amnë¶m n¥ÏdrMo 100 dfm©V 10 go. Zo Vmn‘mZ dmT>V hmoVo.
~) Joë¶m 20 dfm©V Amnë¶m n¥ÏdrMo Xa 100 dfm©V 100 go. Zo Vmn‘mZ dmT>V Amho.
H$) OJmÀ¶m {Za{Zamù¶m ^mJmVrb ~hþVoH$ {h‘ZÚm ‘mJo gaH$V AmhoV.
S>) Eb {ZZmoMr dma§dm[aVm d n[aUm‘mMr Vrd«Vm dmT>V Amho.
darb {dYmZm§n¡H$s H$moUVo/H$moUVr {dYmZo ~amo~a AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ ~amo~a 2) ’$º$ H$ Am{U S> ~amo~a
3) ’$º$ ~ ~amo~a 4) ’$º$ A, H$ Am{U S> ~amo~a
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71) Study the following statements about Greenhouse gases effect.

a) Our planet was heating at the rate of 10 Cper 100 years, till 1970.

b) Since last 20 years, the planet has been warming at the rate of 100 C per 100 years.

c) Most of the glaciers in different parts of the world are retreating.

d) Frequency and effect of El Nino is increasing.

Answer Options :

1) Only a and b are correct 2) Only c and d are correct

3) Only b is correct 4) Only a, c and d are correct

72) OmoS>çm Owidm.
ñV§̂ -I (H$Mè¶mMr {dëhodmQ> bmdm¶Mr nÕV) ñV§̂ -II (AW©)
A) H$Mam S>onmo i) H$Mam OmiUo
~) ^ñ‘ H$aUo ii) H$Mam Q>mH$Uo Am{U ~wbS>moPaÀ¶m gmhmæ¶mZo Xm~Uo
H$) T>diUo iii) Am°p³gOZ {dahrV ÁdbZ
S>) n°amo{b{gg iv) O{‘Zrda H$Mam nga{dUo
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) II I III IV

2) II I IV III

3) I II III IV

4) IV III II I

72) Match the following :

Column I (Waste Disposal Method) Column II (Meaning)

a) Sanitary landfills I) Burning of waste

b) Incineration II) Deposit the refuse and compost it with bulldozers

c) Pulverizing III) Combustion in absence of oxygen

d) Pyrolysis IV) Spreading the waste on fields

Answer Options :

(a) (b) (c) (d)

1) II I III IV

2) II I IV III

3) I II III IV

4) IV III II I

73) gyú‘Vwfmam§Mm hdm‘mZmdarb n[aUm‘
A) gy¶©àH$memMo WoQ> AdH$memV namdV©Z
~) AàË`jarË`m T>Jm§Zm àIa namdV©H$ ~ZdVmV
H$) gyú‘Vwfmam§Mm hdm‘mZ àUmbrda {Zìdi W§S> n[aUm‘
S>) ‘mZd {Z{‘©V gyú‘ Vwfmam§‘wio ZmJ[aH$ Vmn‘mZ dmT>rg H$mhr à‘mUmV Amim ~gVmo.
darbn¡H$s H$moUVo n[aUm‘ ~amo~a AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A, ~ Am{U H$ ~amo~a 2) ’$º$ A Am{U H$ ~amo~a
3) ’$º$ ~, H$ Am{U S> ~amo~a 4) A, ~, H$ Am{U S> ~amo~a
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73) The effects of aerosols on climate is / are

a) They directly reflect sunlight back to space.

b) They indirectly make clouds brighter reflectors.

c) Aerosols have a net cooling effect on climate systems.

d) Human generated aeroslos offset the impact of flobal warming to some extent.

Which of the above effects is / are true?

Answer Options :

1) Only a, b and c are true 2) Only a and c are true

3) Only b, c and d are true 4) a, b, c and d are true

74) ^maVr¶ bmoH$m§Mo Amamo½¶ ImbmdÊ¶mg Imbrbn¡H$s H$moUVm ‘hÎdmMm KQ>H$ H$maUr ŷV Amho.
1) hdoMo àXÿfU 2) Ob àXÿfU 3) ÜdZr àXÿfU 4) ŷ‘r àXÿfU

74) Which of the following is the major cause of poor health in Indians?

1) Air pollution 2) Water pollution 3) Noise pollution 4) Soil pollution

75) 1992 bm [aAmo {X OmZo[aAmo ¶oWo Am¶mo{OV n[afXoVrb O¡d{d{dYVo g§~§YrMm H$ama Imbrbn¡H$s H$moUË¶m VmaIobm
A‘bmV Ambm?
1) 19 {S>g|~a 1993   2) 1 E{àb 2000    3) 5 OyZ 1992    4) 29 {S>g|~a 1993

75) The Earth Summit of 1992 at Rio de Janeiro resulted into a Convention on Biodiversity, which

came into force in which of the following date?

1) 19th December 1993 2) 1th April 2000

3) 5th June 1992 4) 29th December 1993

76) B.g. 2018 ‘Ü¶o AW©emómMo Zmo~ob nm[aVmo{fH$ H$moUmbm {‘imbo H$s Á¶m§Zr emídV d XrK©H$mcrZ Am{W©H$ {dH$mgm‘Ü¶o
¶moJXmZ XoUmao {bImU Ho$bo.
1) àm. gmobmo Am{U g°å ẁAëgZ 2) JwÞma {‘Xm©c Am[U àm. amOZ
3) àm. {dë¶‘ Zm°aYg Am{U àm. nm°b amo‘a 4) àm. A‘Ë¶© goZ Am{U àm. ~gy

76) To whom is the Nobel Prize in Economics in 2018 awarded for their contribution in sustainable

and longterm economic development?

1) Prof. Solo and Samuelson     2) Gunnar Myrdal and Prof. Rajan

3) Prof. Willam Nordhaus and Prof. Paul Romer   4) Prof. Amartya Sen and Prof. Basu

77) boIH$ g{‘Vr d Ë¶m§À¶m Xm[aÐçmÀ¶m g§H$ënZm ¶m§Mr ¶mo½¶ OmoS>r bmdm …
A) OmJ{VH$ ~±H$ i) XaS>moB© Xa {Xder J«m‘rU ̂ mJmV 2400 Cî‘m§H$ Am{U ehar ̂ mJmV 2100

  Cî‘m§H$ {‘iÊ¶mBVHo$ AÞYmÝ¶ {‘iUo Amdí¶H$.
~) lr Jm¡ad XÎm ii) Xm[aÐçmVrb A§Va (Xm[aÐçmVrb nmoH$ir)
H$) bH$S>mdmbm g{‘Vr (1993) iii) XaS>moB© Xa {Xder AmhmamgmR>r 2250 Cî‘m§H$mnojm H$‘r AÞ {‘iUo.
S>) S>m°. Xm§S>oH$a Am{U S>m°. aW iv) 1973-74 À¶m {H$‘VrZwgma Á¶m§Zm XaS>moB© ‘{hZm J«m‘rU ^mJmV é.

 49.09 Am{U ehar ^mJmV é. 57 AmhmamgmR>r {‘iV ZmhrV.
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) I II III IV

2) II I IV III

3) III I II IV

4) IV III I II
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77) Match the author / committee and their poverty concept :

a) World Bank

b) Shri Gaurav Datt

c) Lakdawala Committee (1993)

d) Dr. Dandekar and Dr. Rath

I) Per capita per day, the availability of food in village 2400 calories, in city 2100 calories.

II) Poverty gap

III) Availability of food is less than 2250 calories per day

IV) According to 1973-74 prices, who do not get per capita per month in village < 49.09 and

in city Rs. 57 for food

Answer Options :

(a) (b) (c) (d)

1) I II III IV

2) II I IV III

3) III I II IV

4) IV III I II

78) KmD$H$ qH$‘V {ZX}em§H$m‘Ü¶o (WPI) nwT>rbn¡H$s H$moUË¶m dñVy§À¶m {H$‘VtMm {dMma Ho$bm OmVmo?
A) àmW{‘H$ dñVy ~) B§YZ H$) CËnm{XV dñVy
n¶m©¶r CÎmao …
1) ’$º$ A Am{U H$ 2) ’$º$ A Am{U ~ 3) ’$º$ ~ 4) darb gd©

78) Prices of which of the following commodities are considered in Wholesale Price Index (WPI) ?

a) Primary Goods b) Oil c) Manufactured Goods

Answer Options :

1) Only a and c 2) Only a and b 3) Only b 4) All of the above

79) nr. S>r. AmoPm (1960-61) g{‘VrZo Xm[aÐ`aofoÀ`m ‘mnZmgmR>r nwT>rbn¡H$s H$moUVm {ZH$f {dMmamV KoVbm hmoVm?
1) à{V ì¶º$s, à{V ‘{hZm, {‘iUmao CËnÞ 2) à{V ì¶º$s, à{V ‘{hZm, Cn^moJ IM©
3) darb XmoÝhr 4) ¶mn¡H$s Zmhr

79) Which of the following criteria was considered by P. D. Ojha Committee (1960-61) for calculating

poverty line?

1) Per capita, per month income 2) Per capita, per month consumption expenditure

3) Both of the above 4) None of the above

80) gd© g‘mdoeH$ d¥Õr à{H«$¶o‘Ü¶o emgZmÀ¶m ¶moJXmZmMo {ZX}eH$ nwT>rbn¡H$s H$moUVo Amho?
1) ‘hgyb-ñWyb Xoem§VJ©V CËnmXZ à‘mU 2) gmd©O{ZH$ J§wVdUyH$-ñWyb Xoem§VJ©V CËnmXZ à‘mU
3) darb XmoÝhr 4) ¶mn¡H$s Zmhr

80) Which of the following are the indicators of the contribution of government in the process of

Inclusive Growth?

1) The Revenue - GDP ratio 2) The Public Investment - GDP ratio

3) Both of the above 4) None of the above

81) ¶moOZm H$mimVrb, 1951 Vo 2011 ¶m H$mbI§S>mÀ¶m g§X^m©V nwT>rb {dYmZo {dMmamV ¿¶m.
A) XoemÀ¶m AÞYmÝ¶ CËnmXZmV Mma nQ> dmT> Pmbr, ^maVr¶ CÚmoJm§Mo {d{dYrH$aU Pmbo.
~) Am¶mV n¶m©¶rH$aU, {Z¶m©V {d{dYrH$aU Am{U {dkmZ, V§ÌkmZ {dÚoMm àgma Pmbm.
H$) Xm[aÐç d ~oH$marMo à‘mU H$‘r H$aÊ¶mV ¶e Ambo.
S>) CËnÞ d g§nÎmrMo {dH|$ÐrH$aU H$aUo Am{U Am{W©H$ gÎmoMo H|$ÐrH$aU H$‘r H$aÊ¶mV ¶e Ambo.
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n¶m©¶r CÎmao …
1) ~, H$ Am{U S> 2) ~ Am{U H$ 3) A Am{U ~ 4) H$ Am{U S>

81) In the context of planning era i.e. 1951 to 2011, take into consideration the following statements:

a) Food production increases fourfold, diversified industrial growth takes place.

b) Import substitution, diversified export promotion and science and technical educational

expansion takes place.

c) Achievement in reducing poverty and unemployment ratio.

d) Reduction in concentration of economic power, decentralization of income and welath takes

place.

Answer Options :

1) b, c and d 2) b and c 3) a and b 4) c and d

82) Imbrbn¡H$s H$moUVo ghòH$ {dH$mg Ü¶o¶ Zmhr?
1) A{VJ[a~r Am{U ŷI ¶m§Mo CƒmQ>Z 2) gmd©{ÌH$ àmW{‘H$ {ejU gmÜ¶Vm
3) ~mb‘¥Ë¶yXa H$‘r H$aUo 4) H¥$fr emídVVm gmÜ¶ H$aUo

82) Which of the following is not a millenium development goal?

1) Exadicate extreme poverty and hunger 2) Achieve universal primary education

3) Reduce child mortality 4) Ensure agricultural sustainability

83) qbJ Ag‘mZVm {ZX}em§H$m‘Ü¶o (GII) nwT>rbn¡H$s H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo?
1) àOZZ ñdmñÏ¶ 2) g~brH$aU 3) l‘ ~mOma
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ ~ 4) A, ~, H$ Am{U S>

83) Which of the following factors are included in Gender Inequality Index (GII) ?

a) Reproductive Health b) Empowerment c) Labour market

Answer Options :

1) Only a and b 2) Only b and c 3) Only b 4) a, b, c and d

84) Aëng§»¶m§H$ g‘wXm¶mÀ¶m gm‘m{OH$, Am{W©H$ dmT>rgmR>r Imbrbn¡H$s H$moUVr/H$moUË¶m ¶moOZm Cn¶moJr Amho/AmhoV?
A) ZB© amoeZr ~) nT>mo naXoe H$) {eH$m d H$‘dm S>) Z¶r ‘§Prb
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) darbn¡H$s H$moUVrhr Zmhr 4) darb gd©

84) Which of the following scheme / schemes is / are useful for socio - economic growth of minority

communities ?

a) Nai Roshni b) Padho Pardesh c) Learn and Earn d) Nai Manzil

Answer Options :

1) Only a and b 2) Only c and d 3) None of the above 4) All of the above

85) OyZ 2012 ‘Ü¶o Rio + 20 KmofUmnÌm g§X^m©V emídV {dH$mg C{ÔîQ>ço (SDGs) R>a{dÊ¶mV Ambr. Ë¶mZwgma
nwT>rbn¡H$s H$moUVo/H$moUVr d¡{eîQ>ç/d¡{eîQ>ço R>a{dÊ¶mV Ambobo ZìhVo ?
A) J[a~rMo CƒmQ>Z, Ag‘mZVo{déÕ g§Kf©, qbJ^md g‘mZVm.
~) Amamo½¶ d {ejU gwYmaUm, ‘hmgmJa d O§Jb ajU
H$) A{daV {dH$mgmgmR>r OmJ{VH$ ^mJrXmar, nmR>nwamdm Am{U g‘rjmgmR>r à^mdr g§aMZm {dH$mg
n¶m©¶r CÎmao …
1) ’$º$ H$ Am{U S>   2) ’$º$ A, ~ Am{U H$   3) ’$º$ S> 4) ’$º$ A
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85) In June 2012, according to Rio +20 declaration, Sustainable Development Goals (SDGs) were

decided. Which of the following features was / were not decided?

a) Poverty eradication, fight against unequality, gender equality.

b) Health and educational reforms, ocean and forest protection.

c) World partnership for sustainable development and effective structure for follow-up and review.

d) Ban on terrorist organisations and attacks on other countries

Answer Options :

1) Only c and d 2) Only a, b and c 3) Only d 4) Only a

86) 2011 À¶m OZJUZoZwgma nwT>rb ehao d Ë¶m§Mr bmoH$g§»¶m ¶m§Mr ¶mo½¶ OmoS>r bmdm …
ehao bmoH$g§»¶m (Xebjm‘Ü¶o)

A) ~¥h²Z‘§w~B© i) 8.7
~) {X„r ii) 14.1
H$) H$bH$Îmm iii) 16.3
S>) MoÞB© iv) 18.4
n¶m©¶r CÎmao …

(A) (~) (H$) (S>)
1) III IV II I

2) I II III IV

3) II I IV III

4) IV III II I

86) As per the 2011 census, match the cities according to their population

Cities Population (In millions)

a) Greater Bombay I) 8.7

b) Delhi II) 14.1

c) Kolkata III) 16.3

d) Chennai IV) 18.4

Answer Options :

(a) (b) (c) (d)

1) III IV II I

2) I II III IV

3) II I IV III

4) IV III II I

87) gZ 1991 ‘Ü¶o {dH$mgmMo Ec. nr. Or. à{V‘mZ ...... ¶m Ë`mdoiÀ`m AW© ‘§Í¶m§Zr A‘bmV AmUbo.
1) nr. ìhr. Zaqgh amd 2) àUd ‘wIOu   3) S>m°. ‘Z‘mohZ qgJ   4) nr. {MX§~a‘

87) The LPG model of development was introduced in 1991 by then Finance Minister ......

1) P. V. Narasimha Rao 2) Pranab Mukherjee

3) Dr. Manmohan Singh 4) P. Chidambaram

88) AH$amì¶m ¶moOZoA§VJ©V, gd©g‘mdoeH$Vm Xe©{dUmar, ‘moOVm ¶oÊ¶mgmaIr H$mhr bú¶o g‘m{dï> Ho$br hmoVr. Vr åhUOo…
A) nm¶m ŷV gw{dYm ~) n¶m©daU H$) CËnÞ d J[a~r S>) {ejU d Amamo½¶
n¶m©¶r CÎmao …
1) ’$º$ H$ Am{U S> 2) A, ~, H$ Am{U S> 3) ’$º$ H$ 4) ’$º$ ~, H$ Am{U S>
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88) Under the Eleventh Plan, some of the monitorable targets reflecting inclusiveness include

a) infrastructure b) environment c) income and poverty d) education and helath

Answer Options :

1) Only c and d 2) a, b, c and d 3) Only c 4) Only b, c and d

89) {dÎmr` gd©g‘mdoeH$VogmR>r àYmZ‘§Ìr OZ YZ ¶moOZm Imbrbn¡H$s H$moUË¶m {Xder gwê$ H$aÊ¶mV Ambr?
1) 16 ‘o 2014 2) 15 ‘o 2014 3) 28 Am°JñQ> 2014 4) 18 Zmoìh|~a 2014

89) Pradhan Mantri Jan Dhan Yojana (PMJDY) for financial inclusion was launched on which date?

1) 16th May 2014 2) 15th May 2014 3) 28th August 2014 4) 18th November 2014

90) O‘rZ gwYmaUoÀ¶m ì¶már‘Ü¶o H$moUË¶m Jmoï>r g‘m{dï> hmoVmV?
A) ‘Ü¶ñWm§Mo CƒmQ>Z  ~) Hy$iH$m`Xm gwYmaUm    H$) O‘rZYmaUm ‘¶m©Xm   S>) ghH$mar eoVrMo g§KQ>Z
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ H$ Am{U S> 4) darbn¡H$s gd©

90) The scope of land reforms includes

a) Abolition of intermediaries b) Thenancy Reforms

c) Ceiling on land holdings d) Organisation of co-operative farming

Answer Options :

1) Only a 2) Only b 3) Only c and d 4) All of the above

91) CnJ«hm‘Ü¶o, A§Vamidra hm dOZa{hV AdñWm AZŵ dVmo H$maU ......
A) CnJ«hmÀ¶m AmVrb n¥ð>^mJmH$Sy>Z A§Vamidramda à¶wº$ hmoUmao ~b ho eyÝ¶ AgVo.
~) A§Vamidra d CnJ«hmMm n¥ð>^mJ EH$‘oH$mH$S>o AmH${f©bo OmVmV.
H$) A§Vamidra hm H$moUË¶mhr JwéËdr¶ ~bmZo AmH${f©bm OmV Zmhr.
S>) darbn¡H$s H$moUVohr Zmhr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U H$ 4) ’$º$ S>

91) An astronaut in the satellite feels weightlessness because ......

a) the force exerted by the satellite floor on the astronaut is equal to zero.

b) the astronaut and satellite floor are attracted towards each other.

c) he is not attracted by any gravitational force.

d) None of the above

Answer Options :

1) a, b and c 2) Only a and b 3) Only a and c 4) Only d

92) Bbo³Q´>m°{ZH$ XiUdiU nÕVr‘Ü¶o ({S>{OQ>b) A§H$mË‘H$ g§Xoe
A) gbJ g§Xoe g§M nwadV ZmhrV.
~) ñdV§Ì ({dbJ) nm¶è¶m§‘Ü¶o gmXa Ho$bo OmVmV.
H$) ~m¶Zar ({Û‘mZ) g§»¶m nÕVrMm Cn¶moJ H$aVmV.
S>) Xe‘mZ Am{U {Û‘mZ (~m¶Zar) ¶m XmoÝhr g§»¶m nÕVtMm Cn¶moJ H$aVmV.
darbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) A, ~ Am{U H$ 4) darb gd©
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92) In electronic communication system, digital signals

a) do not provide a continuous set of values. b) represent values as discrete steps.

c) utilize binary system. d) utilize decimal as well as binary system.

Which of the above statements are true?

Answer Options :

1) Only a and b 2) Only b and c 3) a, b and c 4) All of the above

93) AUwH|$ÐH$m^modVr Xþgè¶m ̂ «‘UH$joV ̂ «‘U H$aUmè¶m Bbo³Q´>m°ZMr D$Om© - 3.4 eV Amho. Ë¶mMr {Vgè¶m ̂ «‘U H$joVrb
D$Om© {H$Vr?
1) - 1.51 J 2) - 3.4 eV 3) - 1.51 eV 4) - 13.6 eV

93) Energy of the electron revolving around the nucleus in second orbit is - 3.4 eV. What is its energy

in third orbit?

1) - 1.51 J 2) - 3.4 eV 3) - 1.51 eV 4) - 13.6 eV

94) àH$meH$s¶ V§Vy hm Imbrbn¡H$s H$moUË¶m VÎdmda AmYm[aV Amho?
A) àH$memÀ¶m namdV©ZmMo VÎdmda ~) àH$memÀ¶m AndV©ZmMo VÎdmda
H$) àH$memÀ¶m nyU© Am§V[aH$ VÎdmda S>) àH$memÀ¶m AnñH$aU VÎdmda
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ’$º$ H$ 3) ~ Am{U S> 4) ’$º$ S>

94) Optical fibre is based on which of the following principles?

a) Principle of reflection of light b) Principle of refraction of light

c) Principle of total internal reflection d) Principle of dispersion of light

Answer Options :

1) a, b and c 2) Only c 3) b and d 4) Only d

95) nwT>rb {dYmZm§Mm {dMma H$am …
A) F$U^m[aV {~Q>m H$U ho YZ^m[aV Aë’$m H$Umnojm OmñV A§V }̂X H$aVmV.
~) CXmgrZ (YZ AWdm F$U Zgbobo) Jm‘m H$U ho {~Q>m H$Umnojm OmñV A§V }̂X H$aVmV.
H$) gd©gmYmaUnUo CXmgrZ H$Um§Mr (YZ AWdm F$U^m[aV Zgbobo) A§V }̂X eº$s AË¶wƒ AgVo.
n¶m©¶r CÎmao …
1)A Am{U ~ {dYmZo {ÌH$mbm~m{YV gË¶ AmhoV.
2) A Am{U ~ {dYmZo MyH$ AmhoV na§Vw H$ {dYmZ ~amo~a Amho.
3) H$ {dYmZ ho A Am{U ~ Mr ’$b{ZînÎmr Amho.
4) H$ {dYmZ ho A Am{U ~ Mr ’$b{ZînÎmr Zmhr.

95) Consider the following statements :

a) Beta particles are negatively charged and are more penetrating than Alpha particles, which are

positively charged.

b) Gamma particles are neutral and are more penetrating than Beta - particles.

c) In general neutral particles can be said to be having very high penetrating power.

Answer Options :

1) a and b are universally true

2) a and b are false but c is true

3) c is resultant statement of a and b

4) c is not resultant statement of a and b
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96) XmoZ dñVy§À¶m AàË¶mñW YS>Ho$À¶m Xaå¶mZ Imbrbn¡H$s H$moUË¶m ~m~tMo g§dY©Z hmoB©b?
1) g§nyU© J{VO D$Om© 2) g§nyU© ¶m§{ÌH$ D$Om© 3) g§nyU© EH$aofr¶ D$Om© 4) àË¶oH$ dñVyMr JVr

96) During inelastic collision between two bodies, which of the following quantities always remains

eonserved?

1) Total kinetic energy 2) Total mechanical energy

3) Total linear momentum 4) Speed of each body

97) H$moUË¶m OZwH$s¶ ê$nm§V[aV {nH$m‘Ü ò OZwH$s¶ A{^¶m§{ÌH$s V§ÌmZo A OrdZgÎd {Z‘m©U H$aUmar VrZ OZwHo$ KmVbr
AmhoV?
1) H$ë¶mU gmoZm Jhÿ 2) ‘Ywa Ádmar 3) g§H$[aV ~mOar 4) gwdU© Vm§Xÿi

97) Name the transgenic crop in which three genes for synthesis of vitamin A are introduced through

the technique of genetic engineering.

1) Kalyan Sona wheat 2) Sweet sorghum    3) Hybrid bajra 4) Golden rice

98) ZmH$VmoS>m ¶m H$sQ>H$mÀ`m Za Am{U ‘mXr ‘Ü¶o {H$Vr ghb¾Vm JQ> AgVmV?
1) 04 Am{U 04 2) 10 Am{U 10 3) 12 Am{U 12 4) 23 Am{U 24

98) How many linkage groups are present in the female and male grasshopper insect

1) 04 and 04 2) 10 and 10 3) 12 and 12 4) 23 and 24

99) H$moUË¶m dZñnVr‘Ü¶o EM.Eg.Ho$. AWdm C4 ¶m àH$maMo àH$meg§íbofU hmoVo?
1) D$g 2) ŵB©‘yJ 3) gỳ ©’y$c 4) ~Q>mQ>m

99) Name the plant having H. S. K. or C
4

 pathway of photosynthesis.

1) Sugarcane 2) Groundnut 3) Sunflower 4) Potato

100) agm¶Zm§nmgyZ ñdV…Mo AÞ V¶ma H$aUmao {OdmUy (ñd¶§Ordr) H$moUË¶m agm¶Zm§Mo {dKQ>Z H$ê$Z D$Om© {‘idVmV?
1) g|{Ð¶ Ðì¶o 2) Ag|{Ð¶ Ðì¶o 3) H¥${Ì‘ Ðì¶o 4) à{H«$¶m Ho$bobr Ðì¶o

100) Chemosynthetic bacteria obtain energy by oxidizing ...... chemical compounds.

1) Organic 2) Inorganic 3) Synthetic 4) Processed
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1-3 2-1 3-2 4-3 5-3 6-4 7-1 8-2 9-1 10-4

11-3 12-4 13-3 14-3 15-1 16-1 17-1 18-3 19-4 20-1

21-2 22-1 23-2 24-2 25-4 26-3 27-1 28-2 29-2 30-3

31-1 32-3 33-3 34-1 35-2 36-3 37-1 38-1 39-1 40-4

41-1 42-1 43-4 44-2 45-1 46-1 47-1 48-3 49-1 50-3

51-3 52-4 53-3 54-1 55-1 56-3 57-3 58-1 59-1 60-2

61-2 62-1 63-1 64-4 65-3 66-* 67-1 68-4 69-1 70-2

71-4 72-2 73-4 74-2 75-4 76-3 77-* 78-4 79-2 80-3

81-3 82-4 83-* 84-4 85-3 86-4 87-3 88-2 89-3 90-4

91-4 92-3 93-3 94-2 95-1 96-3 97-4 98-3 99-1 100-2

CÎmao … amÁ¶godm nyd©narjm, 17 ’o$~«wdmar 2019

gyMZm … BQ>°{bH$ Ho$bobo àíZ Am¶moJmZo aÔ Ho$bo hmoVo.


